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General Instructions :
Read the following instructions carefully and strictly follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two Sections :
Section A — Macro Economics
Section B - Indian Economic Development

(iti) This paper contains 20 Multiple Choice Questions Type questions of 1 mark
each.

(iv) This paper contains 4 Short Answer Questions Type-I questions of 3 marks
each to be answered in 60 to 80 words.

(v) This paper contains 6 Short Answer Questions Type-II questions of 4 marks

each to be answered in 80 to 100 words.

(vi)  This paper contains 4 Long Answer Questions Type questions of 6 marks each
to be answered in 100 to 150 words.

(vii) Attempt all parts of a question together.

SECTION A
Macro Economics

1. Read the following statements carefully :

Statement 1 : Primary deposits are the cash deposits by general public
with commercial banks.

Statement 2 : Secondary deposits are those deposits which arise on
account of credit provided by the commercial banks to the
people.

In light of the given statements, choose the correct alternative from the
following : 1

(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d)  Both Statements 1 and 2 are false.
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2. (A) The difference between National Income at market price and
National Income at factor cost is .
(Choose the correct alternative to fill up the blank) 1
(a) net indirect taxes
(b)  net factor income from abroad
(c) consumption of fixed capital
(d)  market price
OR

(B)  Identify which of the following represents only the real flow : 1

Goods and Services

Firms Household

(a)

Factor payments

Goods and Services

(b) Firms Household

Factor services

Factor payments

Firms Household

(c)

Consumption Expenditure

Goods and Services

) Firms Household

Consumption Expenditure

58/1/1 s> e P.T.O.
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(b) ST < forw sk
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3. The rate at which commercial banks borrow from the Reserve Bank of

India to meet their long term requirements is known as

(Choose the correct alternative to fill up the blank) 1

(a) Margin requirement
(b)  Bank rate
(c) Repo rate

(d)  Reverse repo rate

4, Read the following statements carefully :

Statement 1: Borrowings by a nation from the World Bank to finance
Balance of Payment (BoP) deficit will be recorded in the

capital account.

Statement 2 : Autonomous transactions are independent of the

condition of Balance of Payment (BoP) account.

In light of the given statements, choose the correct alternative from the

following : 1
(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d)  Both Statements 1 and 2 are false.

5. Read the following news report carefully :
“The central bank has imposed fine on Hisar Urban Cooperative Bank
Ltd. and Andaman and Nicobar State Cooperative Bank Ltd. for violation

of banking norms.”

According to the given report, identify the function of the central bank. 1
(a)  Issue of currency

(b)  Banker to the public

(c) Banker to the Government

(d) Banker’s Bank

58/1/1 1> e P.T.O.
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(%) Afg o= Uk &1 Iod = 4 TAT &A= (-) 60 &, ql F=Aad § 9
& F9d Beld <l TgaM hifoT
(a) S=(-)60+025Y
(b) S=(-)60+075Y
() S=(-)60+020Y
(d) S=(-)60+060Y

AYAT

(@) few 7U ST ®eM C = 205 + 0-9 Y % fou, ewr ok w1 e
_ wml (e wH W % e EE faeed w1 = Hii)

(a) 0-09
(b) 100
(c) 09
(d 90

fafafRaa et =1 ufe : stfirem (A) 3R wrwr (R) | = feu mu foemedt #
T U Tdl faehew gihw

SYHIT (A) : T & TH &R 1%@ (Break-Even level) I ‘-Iétlv\i T Ugd, 3Hq
3T SR (APC) %1 qe 3TE ¥ AT 8 @ |

HRU(R) :  3Ed IUAM TG (APC), T IUHN 9 Hol 3T HI LI

BT 8 |
ﬁWq:
(a) MR (A) 3T RO (R) S T & 3 w0 (R), AR (A) I
g U1 hidl & |

(b) AR (A) IR ST (R) I TcF 8, Afhd RO (R), ATHHAT (A)
1 Tl AT FgT AT B |

(c) 3P (A) T B, Wihd HRUT (R) JIEH 7 |

d) AR (A) T 8, Wfehd ST (R) I B |



6. (A)  If the value of investment multiplier = 4 and Dissavings = (-) 60,
identify the correct Saving function from the following : 1

(@ S=()60+025Y

(b) S=(-=)60+075Y

() S=(-60+020Y

(d) S=(-)60+060Y
OR

(B)  For the given Consumption function, C = 205 + 0-9 Y, the value of
investment multiplier would be .
(Choose the correct alternative to fill up the blank) 1

(a) 009
(b) 10-0
(¢ 09
(d 90

7. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative given below : 1

Assertion (A) : Before reaching the Break-Even level of income, the value
of Average Propensity to Consume (APC) is greater than

one.

Reason (R): The Average Propensity to Consume (APC) is the ratio of
the total consumption and total income.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(¢) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.
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8. (%) TN VT foh, Th TS T SR FgeH T 50,000 FHUS T 1T AT & |
99 TEGRAT T AT, T g3l o HATd 1 9= 1 7 | 3T I&q30 &
fafa w1 gea = HUS B |

(T T w1 & o7 w&) faeheq o1 =@ <hifo)

(a) 20,000

(b) 10,000

(¢) 12,500

(d) 20,300

T
(@) facurt I 9 MU IYER I UNUI, YAH G b @
ug H oSl oy S & |
(TF Tt =1 9 & fo @&t fasheq o1 =@ hifs)
(a) %ﬁ, shige
(b) s, sfere
(c) =, Shise
d) =, sfee
9. yga=nu for fafafaa § @ - gl g 8 2
(Tt Tasheq =1 == hifSw)

(a) MPC+MPS=0
(b) MPC+MPS=1
(¢ MPC+MPS>1
(d MPC+MPS<1

10. UH feufd & s qam itk aaHE A9l @ W HE HA H 3TgH gl Bl
2o fouf et

(feh Tom A & fow a&dt fashew 1 =@ hifo)

(a) Ul USATR

(b) = SUIH
(¢) Uf<s® SUT
(d) TS ST
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8. (A)  Suppose that, the Balance of Trade of a nation exhibits a deficit of
T 50,000 crore. The import of visible items are five times of
the exports of visible items. The value of exports of visible items
would be ¥ crore.

(Choose the correct alternative to fill up the blank) 1

(a) 20,000
(b) 10,000
(c) 12,500
(d) 20,300
OR
(B)  Gifts and remittances sent abroad are recorded on the side
of the account in Balance of Payment.

(Choose the correct alternative to fill up the blanks) 1
(a)  credit, capital
(b)  debit, capital
(c) credit, current
(d) debit, current

9. Identify which of the following equations is true.
(Choose the correct alternative) 1
(a) MPC+MPS=0
(b) MPC+MPS=1
(c0 MPC+MPS>1
(d MPC+MPS<1

10. A situation in which an able bodied person is not willing to work at the
existing wage rate, is referred to as situation.

(Choose the correct alternative to fill up the blank) 1

(a)  Full employment
(b)  Involuntary unemployment
(c) Voluntary unemployment

(d)  Disguised unemployment

58/1/1 <lu> e P.T.O.
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11.

12.

13.

14.

15.

58/1/1

(a)  Distinguish between ‘Value Addition’ and ‘Final Value of Output’.

OR
(b)  Find the Value Added by Firm A, from the following information :

S. Particul Amount

No. artieuiars (in ¥ crore)

i) Purchase of factor inputs by Firm A 5

(ii) | Purchase of non-factor inputs by Firm A 2

(iii) | Sales by Firm A to other firms in the 10
domestic economy

(iv) | Import of raw materials by firm A from 50
rest of the world

(v) | Excess of opening stock over closing 3
stock

“There exists a positive relation between foreign exchange rate and
supply of foreign exchange.” Do you agree with the given statement ?

Justify your answer with valid arguments.

Describe the adjustment mechanism, if ex-ante savings are less than

ex-ante investments.

Read the following news published on September 26, 2022 :

“The central bank has increased the benchmark lending rate by 140 basis
points.”

Identify the likely cause and consequences behind this action taken by
the Reserve Bank of India.

(a)  Explain the ‘Government’s Bank’ function of the central bank.
OR

(b)  Using a hypothetical numerical example, explain the effect of rise

in Reserve Ratio on credit creation by the commercial banks.

<13 > = P.T.O.
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16. (a) “National Income is always greater than Domestic Income.” Do you
agree with the given statement ? Support your answer with a valid
reason. 3

(b) “In the estimation of Gross Domestic Product (GDP) using
expenditure method, focus lies only on expenditure by the
residents of the country.”

Do you agree with the given statement ? Give valid reasons for
your answer. 3

17. (a) (@) From the information given in the diagram, categorize the
items into revenue receipts and capital receipts, stating
valid reasons. 4

WHERE INDIA GETS ITS MONEY FROM?
For every ¥ 1 that the Govt. earns

Corporation tax ~————  Recovery of loan
21 paise 3 paise

~_ Non-tax revenue

Borrowings 9 paise

and other liabilities,

20 paise
GST and

- other taxes

19 paise

Customs

4 paise Income tax
16 paise

Excise duties : 8 paise
(i1))  Distinguish between Revenue deficit and Fiscal deficit. 2

OR

58/1/1 18> e P.T.O.
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(1) | USE =l 40
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(v) | =t e 20

(i) GThR ooie & ‘sTidfer feomar &l <hl s hifsu |

T @
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) @)

From the following data, calculate the primary deficit. 3

S. Particulars Amount
No. (in ¥ crore)
(1) Revenue deficit 40

(i1) Non-debt creating capital receipts 190
(iii) Tax revenue 125

(iv) Capital expenditure 220

(v) Interest payments 20

(i1)

Elaborate ‘Economic stability’ function of the Government

Budget. 3

SECTION B

Indian Economic Development

18. Read the following statements carefully :

Statement 1 :

Statement 2 :

Commercialization of agriculture under the British rule

was responsible for frequent famines between 1875 and

1900.

During British rule, India began to export food grains.

In light of the given statements, choose the correct alternative from the

following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(¢) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

58/1/1
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20.
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3 had TR &t o fofu forega Icae hid & |
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(a)
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a9 ERELIE iyl (perennial streams) W fast @ﬁ % |
(Tt Taehed o1 =9 hifoT)
(i), (i) AR (i)
(i) N (iid)
had (i)
(i) 3R (ii)



19. (A) Read the following statements carefully :

Statement 1 : The purchase of food grains made by the
Government on the Minimum Support Price (MSP)
is maintained as buffer stock.

Statement 2 : Minimum Support Price safeguards the farmers
against any sharp fall in farm product prices.

In light of the given statements, choose the correct alternative
from the following : 1

(a) Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d)  Both Statements 1 and 2 are false.

OR

(B)  Identify the incorrect statement from the following : 1

(a) Import substitution was the strategy used to save foreign
exchange.

(b)  License policy ensured regional equality.

(c) Russian economic model was the base for the Indian
economic system.

(d) Small Scale Industries are one of the essential tools for
employment generation.

20. Mini-hydel plants are good for the environment because : 1
(1) they generate electricity only for local areas.
(ii)  they do not change the land use pattern.
(i11)) they rely on the perennial streams.
(Choose the correct alternative)
Alternatives :
(a) (1), (i1) and (iii)
(b)  (i1) and (ii1)
(c) (i) only
(d (@) and (ii)
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(@)

= T U2 &g BiEs (GLF) Ifimm W higd B |
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(a)
(b)
(c)
(d)

HEIA JOITeAL
I 9 BiES
g gr it Afa

(o : o M@
Hald gl Hlteplden snlld

o




21. (A) The Great Leap Forward (GLF) campaign in China focused on
(Choose the correct alternative to fill up the blank) 1
(a)  Widespread industrialisation
(b)  New agricultural strategy
(c) Privatisation

(d) Economic reforms

OR

(B) India is not a member of which of the following regional / global
economic groups ? 1

(a)  European Union

(b) BRICS
(c) G20
(d) SAARC

22.  ‘Skill India’ programme launched by the Government is not an attempt to
increase in India.

(Choose the correct alternative to fill up the blank) 1
(a) human capital formation

(b)  efficient utilisation of inputs
(c) increase in GDP growth

(d) inadequate spread of vocational education

23. Identify the correct alternative with reference to the following
statement : 1
“Between 1966 — 76, Mao introduced this movement under which
professionals and students were asked to work and learn from real life
situations prevailing in the countryside of China.”

(a) Commune System
(b)  Great Leap Forward
(c) Open Door Policy

(d) Great Proletarian Cultural Revolution

58/1/1 a1 > e P.T.O.



24.

25.

26.
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kT oMt &1 eHgEs® afeq

FYT71 : WA I Ufchea™ gHi H, a1 & T & T yg@ 9id & ®9 §
IR |

FYT2 : VA o TSI < T, =4 <hl ST Teamem T Haifereh 2 |
feu U el % AT H, Efaiad # 8 wE) ooy w1 =e hifv
(a) AT 18T g N HA 2 3TTH 7 |

(b) YT 13T 8 AN FH2TAA R |

(¢) YT 1R 2THI TcF & |

(d) HAT 1R 2 gHT FE § |

(F) & afts 1 o PRl ¥ Tl 399 (pay-rol) W FREIE BN 1,
st 3 & 3 ST o §

(feh T WA & for @&t foepew &1 =m hifSe)

(a) TG
(b)  ITTHH
() Trafm
d) 9EH
HAYAT

(@) USR-fEH Fglg, SUSHI i Icqd HLd! & HiTeh |
(Teh T W & Tt @&t faheq o1 =@ hifs)
(a)  Hfteh TR S A A1 B &
(b)  =iftek QaTd sgd #Eh Bl 8
(¢) Tormm @t +u Bt 2
(@ ToeprE enfiehl % Hror g g

foret T TRy wad & ooy fafay yeer hl wodl & I &l

el I 7 | (Teh Tom A & faw @&l fasew w1 =@ il
(a) waal 1 fafaefieo

(b) Y Icured o fafaefien

(¢) &zl ° fafaefiemto

@) SR 1 fafaefiento
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Read the following statements carefully :

Statement 1 : In both India and Pakistan, the service sector has been
emerging as a major source of development.

Statement 2 : Amongst the neighbours of India, China has the highest
life expectancy rate.

In light of the given statements, choose the correct alternative from the
following :

(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.

(A)  Workers who are on the permanent pay-roll of their employer are
called workers.

(Choose the correct alternative to fill up the blank)
(a)  self-employed
(b)  casual
(c) regular
(d)  hired
OR
(B)  Jobless growth leads to unemployment because .
(Choose the correct alternative to fill up the blank)
(a)  Labour refuses to migrate
(b)  Labour is very expensive
(c) Growth rate is low

(d)  Growth is due to technological development

Production of diverse varieties of crops rather than one specialized crop is
called . (Choose the correct alternative to fill up the blank)

(a)  diversification of crops
(b)  diversification of agricultural production
(c) diversification in sectors

(d)  diversification of employment

<23 > = P.T.O.
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28.

frafctfaa oMt @l eaHgEs® deu

FYT 1 : YA = AU TAH TS ST h O 1951 T Y oft |

FIYT2 : WA, ke d =4 7 i feiem &1 o0t g o wrifa
o TR 9 STIERT o7 |

feu U el % AT H, faiad # 8 wEl faeed w1 we hifve

(a) HIT 1T 8 3TN HAT 2 AEH 8 |

(b) HIT 1IHT 8 MM FAT 2T B |

() AT 1IN 2T T3 |

(d) HAT 13K 231 A B |

feu v o st e, adu wieRei Efa o YR W i

A 4

T T 57 e gRaTfa a3 g T w28 % T w A

29.

30.
31.
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foreht ueh aqam wafaefie g 6 smen Hif |

(%) wra # ywfio fow@ i sk # amfior Sfeen gomelt i ofieht

STATEATCHh HTehd HITTT |
HYAT

(@) “Tl. U, T Td fdfehcae, offde €9 & US 3ot ® 19T
fafrcare™ (clinic) I@M o | I TULRRA 3Tcd I 3Rid R ©@ o |
%ﬁqg,drs\i-\i e S ohT ST TohdT 9T 38 TS § o<1 TR 1 =49

|

1. GUHT o g fohU T = o I8 YehR ol UgTHT AT SATET ShifaT,
e o ot Frator afsen o yeaer w9 @ diee fean @

qIfehed™ | it Hafg @ IH: FEAar 3T o W SR sl =ret HiT |

(%) frenfies Hifd T, 1956 % 3T AZEH TS o YIS & bl ol G&T
H 99EsT |

(@) wgusha s i i T |




27. Read the following statements carefully :
Statement 1 : India announced its First Five Year Plan in 1951.
Statement 2 : India, Pakistan and China adopted economic planning as
the core development strategy.
In light of the given statements, choose the correct alternative from the
following : 1
(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.
28. Interpret the given picture, on account of current environmental
challenges : 3
o
“Ei : - b : i
Note : The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 28 :
Explain any one current environmental challenge.
29. (a) Critically evaluate the role of rural banking system in the process
of rural development in India. 3
OR
(b)  “Dr. Khurana, a dentist, ran his clinic in an economically
backward area. He was earning a comparatively low income. So, he
decided to move to a city and spent a huge amount for the same.”
Identify and explain the type of expenditure incurred by Dr.
Khurana, which directly contributed to the process of human
capital formation. 3
30. Explain valid reasons for the slow growth and re-emergence of poverty in
Pakistan. 4
31. (a) Explain briefly the rationale behind the ‘License Raj’ under the
Industrial Policy Resolution, 1956. 3
(b)  Define Multilateral trade. 1
58/1/1 <28 > e P.T.O.
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33.

34.

(%) W= Rl Aigd, Iooi@ Td AT hHivg foh HERIRed ®eF ¥ @
QT A
‘T, RAE AIGEAT 7 HRITA o HTERIBOT I IR FATIT

IEEARER IR
HAAT
(@) “9Rd T AW 60% FHAR TR § R 8 | TS sJfhen o
31T USHIR o B shl TG 3ferehad g |7
T AP & €Y U, TWSHH ARRAl & U Afes 31 USHTK
gHfead &0 & fou fhr IH ael foegl @ 3uml w1 Afowar geima
i |
() () Tafia Soqwnh sderfal § afged «n =i 8 2
(i) =g §efit T Aifoe 3ol 7 o= w98 Shif |
HAAT
(@) (i) YRd ¥ grefiy faem aea &= § wina foedt we wHifa =&
3odi@ F =1 hIfaU |
(i) T YRA § G&H-R0T HHHA h HEwd shl &9 H ==l hiT |

frferfaa e i %WW%Q°

Hifa s * AT, W 7 fefea deoi 6 {[%r%ﬂ % fau defihe oy

3T & | 39 Wediad id & U U fames gien d¥mr o sl STeavehal

3 |

Hifg s T e fod “Digital Banks : A Proposal for Licensing and

Regulatory Regime for India” o e & fou fefsea d wmafm g fames

LT & U UH Gien 9 UsHY Yei fham 8 | 9Rd & @rai-e fsfoed

gHEE @, TR ®9 § Thihd WM 3%d (UPD) 5 38 FHKT W

ThAATYEh FTT fohall B |

YR o |, YA 39 TG Th b STehTT @ial ohl FaTeld i hl HITL W 7 |

a0 8 A ﬂ‘ldl%,%%&?ﬁﬁﬁ@@@ﬁ%‘muqd i o fIw wRd

o I b el {«dTeh S 2

fsforea sifepm, Swammrat =t fafia ‘o’q?frﬁl?n foeti ol Y w1 U

TaaTfetd YA Sishan s <t erufa gar 3 | fefea i we gwamator #th

Tehell GgT o Agd i i A BT 8 | Thdl Ugd THTS I AIcHIEd hih,

%ﬁwéﬁnwﬁm%ﬁwﬁuﬁéﬁaﬁ% |

feu T ey qen wT Wy % oMYR W fefaRed yei % 3w e

(%) ura § Hifd smm 3 forg gren o1 gfceenfua fram 2 2 Hifa s/ &
U AT i & ?

(@) fefea s = fopedl g g Tl &1 Ieoi@ 9 9=t il |
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(a) State and elaborate whether the following statement is true or
false, with valid arguments :
“Indian economy has showed satisfactory progress towards
formalization of workforce in the recent past.”

OR

(b)  “In India, the self-employed constitute around 60% employees. The
possible incidence of under employment is the highest among the
self-employed.”
As an economist, suggest and elaborate any two measures that
may be taken to ensure more productive employment for the

self-employed.
(a) @) Why are less women found in regular salaried employment ?
(i1)  Distinguish between human capital and physical capital.
OR
(b) @) State and discuss any one strategy involved in attaining

sustainable development in India.
(i1)  Discuss briefly the importance of micro credit programme in
rural India.

Read the following text carefully :
According to NITI Aayog, India has a technological advantage to
facilitate digital banks. There is a need for creating a regulatory
framework for promoting this.
NITI Aayog, in its report titled “Digital Banks : A Proposal for Licensing
and Regulatory Regime for India”, offers a template and roadmap for a
digital bank licensing and regulatory regime for a country. India’s public
digital infrastructure, especially Unified Payments Interface (UPI) has
successfully faced this.
With Aadhar, India is at the cusp of operationalizing its own open
banking framework. This demonstrates that India has the technology
stock to fully facilitate digital banks.
Digital banking allows a user to set up automatic payments for regular
utility bills. Digital banking enables fund transfers to reduce the risk of
counterfeit currency. By promoting a cashless society, digital banking
restricts the circulation of black money.
On the basis of the given text and common understanding, answer the
following questions :

(a)  Which institution has been replaced by NITI Aayog in India ? Who
is the ex-officio Chairman of NITI Aayog ?

(b)  State and discuss any two main advantages of digital banking.
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A= e :
Frafeftem et = aga Traur @ ufe iR 7@ ure i ;
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(FETE Steivme)
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ﬁm%ﬁ
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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)

(iii)
()
(v)

(vi)

This question paper contains 34 questions. All questions are
compulsory.

This question paper contains two sections, section-A and B.

Section — A : Macro Economics

Section — B : Indian Economic Development

This paper contains 20 Multiple Choice Questions type questions of
1 mark each.

This paper contains 4 Short Answer Questions type-I questions of
3 marks each to be answered in 60 to 80 words.

This paper contains 6 Short Answer Questions type-II questions of
4 marks each to be answered in 80 to 100 words.

This paper contains 4 Long Answer type Questions of 6 marks each to
be answered in 100 to 150 words.

(vii) Attempt all parts of a question together.

Section - A
(Macro Economics)

1. “In the Annual Budget 2022-23, the Government of India set up
disinvestment targets of ¥ 65,000 crore”.

Such proceeds from disinvestment can be classified as receipts in the
Government Budget as it leads to of the Government.

(Choose the correct alternative) 1
(a) capital, decrease in assets (b) revenue, increase in assets
(c) capital, increase in liabilities (d) revenue, decrease in liabilities

2.  Read the following statements — Assertion (A) and Reason (R). Choose one

of the correct alternatives given below :

Assertion (A) : The Balance of Payments is in surplus, if autonomous

receipts are greater than autonomous payments.

Reason (R) : Autonomous transactions are determined by the difference

in the Balance of Payments.

Alternatives :

()
(b)

©
(d)

58/2/1

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

{3 > E‘%‘% P.T.O.
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3. frafefea swemt 1 eamgdes 31e i :
A 1 : YT IUHFT, 37T T TN & YeI& T8 hl AT 2 |
A 2 : 31 4w Fifeed afg % o, S suam d i gig a2
feu 7T Al & 3tk H, frfelaa o @ & fashe w1 = Fifv
(a) FUT1HITEIANHYT 2 IHA R |
(b) FI1IFILINFIT2TAE |
() HUT1M2THTAE |
(d) 1 IR 2 TEI FATAE |

4. gof 3 SN, T e, IO heT H AR Sehi o U B el fafi St
SR < SR T FHST &1 T | IR el b —
“3 STHT 5T ATt o M1 HT9 T 9T B1d &, TAT SIS Fohi gRIAM WA B & 17
3Tk GRI THATY T FHT YhTR hl TETH T Hal forehed T == i :
()  HET S
(i) @raty s

(111) STHEL THT JSHT

forehea

(a) A (1) (b) = (11)

(© @@ d) @), @) = 1)

5. 22T, 2022 S YT AR o S 61 I8 fosiied & 1w
“Ia: 3faIdt (AT TR A g Foremht adwifern fam # US$ 15.2 faform 1 sfeaiz

TAEAE I
YU ST ARA S WA e s @Idh U&7 H ol (ohal S |
(T farehed &1 =3 )
(a) e, hise (b) ey, 2fere
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3.  Read the following statements carefully : 1
Statement 1 : The induced consumption shows, the direct relation
between consumption and income.
Statement 2 : With a certain increase in income, induced consumption
also increases.

In the light of the given statements, choose the correct alternative from
the following :

(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(¢) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.

4. Ms. Iqra Ansari, a teacher, was explaining in her class about various
types of deposits with the commercial banks. She quoted that —

“These deposits form a part of M1 measure of money supply and are
payable on demand by the commercial banks.”

Identify the type of deposits she was explaining about and choose the
correct alternative : 1

(1) Demand Deposits

(1) Time Deposits

(ii1) Post Office Deposits

Alternatives :

(a) Only @) (b)  Only (1)

(¢) (1) and (ii) (d) @), (i1) and (1)

5. As per the Reserve Bank of India (RBI) press report, dated 22nd June,
2022 : 1

“Net Foreign Portfolio Investment (FPI) recorded an outflow of US$15.2
billion mainly from the equity market.”

The above transaction will be recorded in the _ accounton __ side
of Balance of payments account of India. (Choose the correct alternative)
(a) current, credit (b) current, debit

(c) capital, credit (d) capital, debit

58/2/1 {5 > E‘%ﬁ P.T.O.
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6. (A) Frfafad oAt o eamyEs ser ®t
HUA 1 : Fohet Tie] 3catg forelt forelar o & SR srefearaen & avft &1 g 3t
ST fepw T, weft 3ifom aEq3tl @ AT % Hehel SSIR Yoo T Bt AT BT
2
HA 2 : WO oA W HHel God 1§ (GVAp), HEF ITHIT T IeATEH o Hed
% ST & S &I 2 |
few T el % SAretes U, FAfdiad O @ g2 fasew o1 =em il
(a) YT 1HT B INHYT 2 3T 2 |
(b) HUH1IFILIRNFYT2TAE |
() HUT1IAN2TNHAE |
(d) HUF1 AR 2SI IHAE |
Freran
(B) = ferwmu fom & R W B o D g g T J6T8 & YR i Ug= i :
(TE1 Tarehea 1 =2 )

fererea -
(a) TE(eRh JoITE (b) 5 yaTE
(c) THHE JeITE (d) UTHYETE

7. HF AT fom, fordlt smeufen srefeaawen & fou frmfefiga stfee Suaeu 2 -

Ci ] 2020 R T H) | 2021 R WS W)
e

399 Wl %1 fafa 1,000 1,100

9 9El 1 AT 800 850
a9 2020 2021 HAUR AT HUSH 7|

(TE! farehed T = )

(a) 200, 5@ T (b) 200, HH T
(¢) 50, g T (d) 50, %W g
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6.

(A) Read the following statements carefully :

Statement 1 : Gross Domestic Product (GDP) is the sum total of the
gross market value of all the final goods and services added by
all the sectors in the economy during a fiscal year.

Statement 2 : Gross Value Added at Market Price (GVAy;p) is equal

to the excess of value of output over intermediate consumption.
In the light of the given statements, choose the correct alternative
from the following :
(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(¢) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.
OR
(B) On the basis of the figure given below, identify the type of flow
indicated by Band D :
(Choose the correct alternative)

A

Spending

and Services

B

Households

Factor Payments

Factor Services

D
Alternatives :
(a) Real flow (b) Money flow
(¢) Nominal flow (d) National flow

Assuming that, the following data is given for an imaginary economy :

Year | 2020 R in Cr.) | 2021 R in Cr.)

Items

Exports of visbles 1,000 1,100

Imports of visibles 800 850
The balance of Trade from 2020 to 2021 by ¥ crore.

(Choose the correct alternative)

(a) 1increased, 200 (b) decreased, 200
(c) 1increased, 50 (d) decreased, 50

1
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8.  Iefeaeen H gfgum AT Yod TR <l Tme ¥ fed & fo, aen & TS
Ie3T o1 ITTS o TS & STTRNY S7¢ ! T Fehel 2 |

(i) T 1 Y SAE

(i) oI ferar

(iii) 3T T YA forawo

ferepea

(@) WA @) (b) =M™ (i)
(c) M (iii) (d (@) (id)

9. (A) Trafafad sui o e — e (A) SR (R) | T feu mu foepeai § 9w
gt forbea 4
fiReA (A) : 3™ & T R (Break Even level) W, 3ft&d 3uwm it
(APC) %1 4¢3 YA Bl ¢ |
HROT (R) : 379@ 3991 Ygfd (APC) der 378 s=rd Jafd (APS) &1 arT dcd
TS o TUSL BT S |
ﬁm:
(a) SARTRYT (A) 3R SR (R) THT T & 3T HROT (R), IIHUT (A) i Tl
T2 |
(b) FAH (A) 3R FHWO (R) 1 70 € 3R F01 (R), e (A) hi wel
ST TE 7 |
(c) 3INHYF (A) T 8, AT HRT (R) 3T R |
(d) 3TNHYF (A) T B, wAfeha HROT (R) T 2 |
JAYUAT
(B) __ YUY U % 3T &R I Heid a1 7, S foh refeqaeyn § qafg ooy
3TYfet g R o < Hehe R | (Tt foped g, ek worm <At g i)
(a) IR YA (b) T "I
(c) e d) Freaw
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8. In order to tackle the problem of rising general price level in an economy,
government may come up with a surplus budget to achieve the budget

objective of ) 1
(1) reallocation of resources
(11) price stability

(111) redistribution of income

Alternatives :
(a) () only (b) (1) only
(¢) (i11) only (d) (1) and (i11)

9. (A) Read the following statements — Assertion (A) and Reason (R).

Choose one of the correct alternatives given below : 1
Assertion (A) : At the break-even level of income, the value of
Average Propensity to Consume (APC) is zero.

Reason (R) : Sum of Average Propensity to Consume (APC) and
Average Propensity to Save (APS) is always equal to one.

Alternatives :
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is
the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is

not the correct explanation of Assertion (A).
(¢) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.
OR

B) refers to that level of Aggregate Demand, which can be met by
the corresponding supply in the economy.

(Fill up the blank with correct alternative) 1
(a) Autonomous Consumption (b) Effective Demand

(¢) Excess Demand (d) Deficient Demand

58/2/1 {9 > E‘%ﬁ P.T.O.
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10. (A) YR Fdegeen @, 9rd fise S (RBI) g1 SRT fopu SiTd & @ oy
g% &9 H HE Hd F |
() =t gourert < s
(i) T T e % rerar, fafira goeret & wh e

(i) @S

forepea -

(a) W™ (@) (b) = (i)
(c) HM™ (iii) (d @33

Froran
(B) 3refeeren § wifges <fifa w1 fmmor AT/ # |
(Tt farehea gr, Tk worm &1 gfd i)

(a) aforfsoes S (b) HARIFT g1 HIY
(OREZ-AREE (d) HEEEHR
11. U sheufe referawen & fmfafaa stfael & YR W, d1eF TR W 3G Tie] TG
(NDPy,) 31 701 i
E2 . afw
we " R F3 H)
@ TEEY IUHIT 2,000
(ii) THRY 3ifem Ui == 1,500
(iil) | Hoher Ee] wmh S frmpor 1,000
(v) |w®dAgsda 300
) ERIN 700
(vi) 3G I T 350
(vi) | @ 200
(viil) | Tt gSht o1 IusmT 250
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10. (A) In the Indian economy, are issued by the Reserve Bank of

India and acts as legal tender money. 1
(1) Coins of all denomination
(i) Currency notes of various denominations, except one rupee note

(111) Demand deposits

Alternatives :
(@) Only () (b) Only (i1)
(¢) Only (ii1) (d) @) and (i1)
OR
B) __ formulates the Monetary Policy in the economy.
(Fill up the blank with correct alternative) 1
(a) Commercial Banks (b) International Monetary Fund
(¢) Central Bank (d) Central Government

11. On the basis of the data given below for an imaginary economy, estimate

the value of Net Domestic Product at factor cost (NDP) : 3

Amount
S. No. Items

(X in crore)

1) Household Consumption Expenditure 2,000
(11) Government Final Consumption Expenditure 1,500
(111) Gross Domestic Fixed Capital Formation 1,000
@iv) Net additions to stock 300
) Exports 700
(vi) Net Indirect Taxes 350
(vii) Imports 200
(vii1) Consumption of Fixed Capital 250

58/2/1 <> E‘%ﬁ P.T.O.
E HH



12. (a) “T= (Flexible) fafema ot gurmeft & staria, s S faesft gz aom # wwag
T H@ e |
T b gRT fe T e o1 Jfifae frg = |
Jreran
(b) foreft Ty o foRITa TR e qgT & GeasT® & YTE hl e B |

13, “aforfsreh Senl g ag gor 1 SfHan qa Gu= el 8, ST SATarE shie w1 2 SrRfes
SHT o SITE gl STt & 17
Teh TRATcHS 3CTE01 ! GeadT § fag &L, for fenman s e 2 |

14. (a) “ush Fderae # faaifsra awm ain fanfsa auw ofd @ sl 2 1
ITTEH, 3T I TSR o &L U IS ool $8eh GHTE shl AT i |
e
(b) T HIcalh Fefawe o fou, 97 A 3¢ foh Hiwma sudm wgfa (MPC) o 75%
T 90% 1 Jfg T3 &, 741 e H T 1,000 U 1 I g 1 |
f7ersT Uk S STIURON T FART hd §U, AT A Jgfd (MPC) § i@
ST §E T H ghg HM0HT R |

15. 3Uh ICTEW G, ToI&T il o STIced hil § 37l T8 e |

16. (a) () “UE %3 a&qd 9 Yard Bt &, S hoArwr F ATEH e &, W Hebel Tl
3cITE o AN T et &l 1 et § 17
AT 3T fEU T e | TgHd & 7 379 3T o 90 U 9T SR G |
(i) 3T IETEXT R, fH I3 o Heard! aqaT H 3Tt T8 h |
e

(b) () IUIF TEATHS IS & TAN gRI, IRl Hehel Tl 3IcUTg J Hifgeh
Tehel T 3cUTE H ST T i |
(i) T xS W FerE w1 319 ford |
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12. (a) “Under the flexible exchange rate system, the Central Bank does not
intervene in the foreign exchange market.”

Justify the statement, giving valid arguments. 3
OR
(b) Explain the impact of home currency depreciation on the exports of a
nation. 3

13. “The process of credit creation by commercial banks comes to an end when
the total of required reserves become equal to the initial deposits.”
With the help of a numerical example, prove that the given statement is
true. 4

14. (a) “In an economy ex-ante Aggregate Demand is more than ex-ante
Aggregate Supply.”
Explain its impact on the level of output, income and employment. 4

OR
(b) For a hypothetical economy, assuming there is an increase in the

Marginal Propensity to Consume (MPC) from 75% to 90% and
change in investment to be ¥ 1,000 crore. 4
Using the concept of investment multiplier, calculate the increase in
income due to change in Marginal Propensity to Consume (MPC).

15. With suitable examples, distinguish between Direct taxes and Indirect
taxes. 4

16. (a) (1) “Many goods and services which may contribute to welfare, but
are not included in estimating Gross Domestic Product (GDP).”
Do you agree with the given statement ? Give valid reason in

support of your answer. 3
(i1) With suitable examples, distinguish between final goods and
intermediate goods. 3
OR

(b) (1) Using a suitable numerical example, distinguish between Real
Gross Domestic Product (GDP) and Nominal Gross Domestic
Product (GDP). 4

(1) State the meaning of ‘normal resident’ of a country. 2
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17.  frfafad mar &1 eareh STEaE Y | 386k qT FHTI T o STTER 9w e st w1
3?1'{%
30 e 2022 1 wRe T fotdl b = AR =eft S’ W et 5 gfg i 7 | Wi i

it (MPC) ¥ i 2 50 ST 5 1 3707 s = s 1 gl o 1 9 6
2 | 39 HI9UI % W, T 5.9% W 3T TS &, STaifeh Nad W & 3.35% o THH TR

Tl g |

TR ST 3T o HIUT ATV S e o o 3/ oid & | {01 X H Ifg &
T HATH ST gRT 3R 4T W& &1 ST | WET $EfaY & Fifeh, S & RBI W &€
QTN 2, Siebi o [T sk Sioh © STeTehTICT SAUT i1 HETl &l STl & |

gfrEaEy, T @ # ghg H T & foru o 39 w0 @ F gfg wa & e W
TTgh, Sl | IUR od & | VAT 3TFCTT BT 3 Fifeh, sfeh GaU USRI ! 39 TS &
TUROT & &, S 3T IO Y € H Tog e &Y 8 ST B g |

T H 0.50% T Fhg T IUR T aTel o foTe K01 3= 0 9 3ueTsd 20 |
a1 31 B, fob gqa™ 0 gH & fore € I At EMI (Equated Monthly
Instalments) # +t gfg g st |

Source : https://www.businessstandard.com/article/economicpolicy/rbi-monetary-policy-
repo-rate-up-by-50bps-here-s-how-it-will-impact-you-122093000267 (Edited)

(@) T I I o |

(b) wRe fiotel sep b1 Hifges fifa afufa (MPC) gry &rer € 8 391 g fepu 7w wfterdH
T IooTd i |

(© Ve afg srferawen ¥ qg1 whife 1 gehreen w & fore Hfgss Hifa afufa g
SUANT feRaT ST STl Ueh Hgeaqul SUhTvT & |
few 7w shem 1 sifee fag =t |
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17. Read the following text carefully. Answer the given questions on the basis

of the same and common understanding :

On 30th September 2022, the Reserve Bank of India (RBI) raised
Repo Rate for the fourth time in a row. The Monetary Policy Committee

(MPC) decided to raise the policy rate by 50 basis points

1
(1 basis point = ﬁth of a percent) . After this announcement, the new

repo rate stands at 5.9%, while the reverse repo rate continues to stand at
3.35%.

Commercial banks borrow money from the Central Bank, when there
is a shortage of funds. With the surge in the repo rate, borrowings by
general public will become costlier. This is because, as RBI hikes its repo
rate, it becomes costly for the banks to borrow short term funds from the
Central Bank.

As a result, the banks hike the rates at which customers borrow
money from them to compensate for the hike in the repo rate. This
happens because banks offer loans to retail consumers at an interest rate

which 1s generally, directly proportional to the repo rate.

The increase of 0.50 percent in repo rate will lead to a higher interest
rates on loans for borrowers, implying that the Equated Monthly
Instalments (EMIs) for repaying the existing loans will also increase.

Source: https://www.businessstandard.com/article/economicpolicy/rbi-monetary-
policy-repo-rate-up-by-50bps-here-s-how-it-will-impact-you-122093000267 (Edited)

(a) Define ‘Repo Rate’. 1

(b) Outline the recent change made by the Monetary Policy Committee

of Reserve Bank of India in the repo rate. 1

(¢) “Increase in repo rate is an important tool used by Monetary Policy
Committee to combat the situation of inflation in the Economy.”

Justify the given statement. 4
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(a)
(b)
©
(d)

19. A)

B)

20. A)
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T ! I SATIR TTE T AHAT HTAT LT |

&g 3euted ot wfaarereres e S e forem |
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e
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RO (R) : A& IS 30 Bl 2 |

fererea
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Section - B

(Indian Economic Development)

18. Which of the following is NOT true about foreign trade during the colonial

rule ? (Choose the correct alternative)

(a) India suffered from large trade deficit.

(b) Restrictive policies of commodity production, were followed.

(c) Britain maintained a monopoly control over India’s exports and
imports.

(d) India became an exporter of primary products and an importer of
finished consumer goods.

19. A) is a process, which includes all the activities from sowing till
sale of the final produce in the market.
(Fill up the blank with correct alternative)
(a) Rural Development (b) Agricultural Diversification
(¢) Organic Farming (d) Agricultural Marketing
OR
B) have emerged as an important micro finance system and led

20. A

58/2/1

to women empowerment. (Fill up the blank with correct alternative)
(a) NABARD (b) Self-Help Groups
(c) Commercial Banks (d) Land Development Banks

Read the following statements — Assertion(A) and Reason (R).

Choose one of the correct alternatives given below :

Assertion (A) : Human capital is not traded in the market; however
its services are traded.

Reason (R) : Human capital is intangible in nature.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is
the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is
not the correct explanation of Assertion (A).

(¢) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

OR
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21. freferfga et w1 eamyes 3189 i 1
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(B) Benefits of physical capital accrue only to private entities, whereas

human capital provides private as well as benefits.

(Fill up the blank with correct alternative) 1

(a) profitable (b) social
(c) fiscal (d) monetary
21. Read the following statements carefully : 1

Statement 1 : China introduced structural economic reforms on its own,

without any pressure.

Statement 2 : Scholars argue that in India, the economic reforms process

led to the worsening of all the economic indicators.

In the light of the given statements, choose the correct alternatives from

the following :

(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(¢) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

22. Which of the following was NOT the benefit accruing from ‘Golden

Revolution’ ? (Choose the correct alternative) 1
(a) Increase in the income of the farmers.

(b) Increase in production of milk and related products.

(¢) Increase in production and exports of fruits and vegetables.

(d) Employment for women in rural areas.
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23. Wi — I # feu 70 gre13ti & He 9 Siom - 11 7 feu 10 wefya aui § 9 sme g™ &1

TITHL 1
e — 1 e — 11
A. | IR H &9 Y 3T (i) 1850
B. | TISCO @1 fma (i) 1807
C. | IR 1 9UH TferehTREs STvET (iii) 1881
D. | T T8 1 g1 (iv) 1869
ferepea

(@ A-@ (b) B - (i)
() C-— (iii) (d D-(@v)

24. (A) =HH919587 <1 IE3Ta hl, FTEehT 3evd o9 AU W W T SR
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(0 3Tie GuRi i yEarTd ) ¥ A wraE AfEE
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(a) T4 fosm gahrh (b) TEdFAT Hebdh
(c) ik foreprar @ el g
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e TETferd BT 2 | (Tl fashed g, fs AT gfd opl) 1
(a) 3o I aar (b) AU AU FHAT A
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23. From the set of the events given in Column — I and the corresponding year

in Column —1II, choose the incorrect pair : 1
Column -1 Column - I1
A. | Introduction of railways in India | @) 1850
B. | Incorporation of TISCO (i1) 1807
C. | First Official Census of India (111) 1881
D. | Opening of Suez Canal @1v) 1869
Alternatives :
(@ A-@© (b) B-(@)
(¢ C-(@u) (d D-(@Gv)
24. (A) China initiated __ in 1958, that aimed at industrializing the

country on a massive scale. (Fill up the blank with correct alternative) 1
(a) The Great Proletarian Cultural Revolution

(b) Setting up of Special Economic Zones

(¢) Introduction of Economic Reforms

(d) The Great Leap Forward Campaign
OR

B) acts as a measure of ‘the extent of democratic participation in
social and political decision-making.’

(Fill up the blank with correct alternative) 1
(a) Human Development Index (b) Liberty Indicator
(¢) Economic Growth (d) Poverty Index

25. In an economy, when the rate of resource extraction is lower than the rate

of regeneration of the resource, the environment may operate 1
(Fill up the blank with correct alternative)

(a) within its carrying capacity. (b) beyond its absorptive capacity.

(¢) beyond its carrying capacity. (d) Dbeyond its aesthetic capacity.
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26. freferiga el s eaTYes 315 i
HAA 1 : TR, T o = | A, <G8 o7 of SHEEIT Gcdl I1eA1 TF 2 |

HUA 2 : A H 1970 T b 3 H YT %1 7TE Tho S1c1eh A11d ¥ I8 ghg & H
ShTohT et AT <t |

few T el % 3ATets O, FAfiaa O @ g fasew o1 =@ hifse
(a) FUT1TTEIANHYT2 IHAE |

(b) AT 1 FEAEINFAT2 U R |

(€ HU1IN2CH FAF |

(d) YT 1 3R 2 A EAE |

27. frfafaa sifwel % SR W Gehel Te] 3G (GDP %) &1 a1fish gfg &t o ded |
Eaﬁmaﬁwaﬁ: (HEY forehed <1 =9 )

Tehel T¥e] 3cdTE <h vk Jfig av (%). 1980 — 2017

W 1980 - 90 | 2015 - 2017
IRd 5.7 7.3
=i 10.3 6.8
RlEasSIC] 6.3 5.3

Source : Key Indicators for Asia and Pacific 2016. Asian Development Bank.
Philippines : World Development Indicators 2018.

Tarerea
(a) 1980 o g¥1eh H =9 I TETE 375kl H Jfg TSI T H T o7 |
(b) 1980 — 2017 = T TTfehET WA & 377 T |

(¢) 2015-17 % S YR - Tehdt T 3cTE (GDP) H e g o1 199a fomam o |
(d) 2015-17 % A = 3 TIfhEa™ €I A Ifg T H Frrae 1 31gwa fora o |
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26. Read the following statements carefully :

Statement 1 : Amongst India, China and Pakistan, China is the largest
nation and has the highest population density.

Statement 2 : One-child policy introduced in the late 1970s in China led

to a considerable decline in the population growth rate.

In the light of the given statements, choose the correct alternative from

the following :

(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

27. On the basis of the data given below, identify the incorrect statement in

terms of annual growth of GDP (%) : (Choose the correct alternative) 1
Annual Growth of Gross Domestic Product (%). 1980 — 2017
Country 1980 -90 | 2015 -2017

India 5.7 7.3
China 10.3 6.8
Pakistan 6.3 5.3

Source : Key Indicators for Asia and Pacific 2016. Asian Development Bank.
Philippines : World Development Indicators 2018.

Alternatives :

(a) China was able to maintain near double-digit growth during the
1980s.

(b) Pakistan was ahead of India during 1980 — 2017.

(¢) India experienced a rapid rise in Gross Domestic Product during
2015-17.

(d) Both China and Pakistan experienced a decline in growth rate
during 2015-17.
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28. “Serious concerns over the climate change is taking over the attention of

the world.”

In the light of the above statement and image, discuss any two strategies

to tackle this global concern of Environmental degradation.

29. (a)

(b)

“Recently the Government of India has taken numerous steps
towards increasing the farmer’s income through agricultural

diversification.”

In light of the above statement, explain any two advantages of

diversification in agriculture.
OR

“Active Government intervention is essential in education and health

sectors in India.”

Do you agree with the given statement ? Give reasons in support of

your answer.

30. Discuss any two merits and demerits of the Green Revolution in the

agricultural sector in the Indian economy.
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31. few Ty rfergi & TR T

Some Selected Indicators of Human Development, 2017-2019

Item India China Pakistan
Human Development Index (Value) 0.645 0.761 0.557
Rank (based on HDI) 130 87 154
Life Expectancy at Birth (years) 69.7 76.9 67.3
Mean years of Schooling (% aged 15 and above) 6.5 8.1 5.2
Gross National Income per capita (PPP US$) 6,681 16,057 5,005
Percentage of People living Below Poverty Line (National) 21.9*% 1.7%* 24.3*
Infant Mortality Rate (per 1000 live births) 29.9 7.4 57.2
Maternal Mortality Rate (per 1 lakh births) 133 29 140
Population using at least basic Sanitation (%) 60 75 60
Population using at least basic drinking 93 96 91
Water Source (%)

Percentage of Undernourished Children 37.9 8.1 37.6

Note: * for the year 2011; for the years 2015.
Sources: Human Development Report 2019 and 2020.

() UH-Teh T Hehdeh o TR Hehclch oh! Tg=H i |
(i) 9FT (i) § U= T fohet Teh Hehdeh o TR U WA I T T T i |

32. (a) “@E WU (On the Job Training) W T mom =2 sreferawen # AHa dSft
Tormtor =1 sk TRl TR R 1
few 7 hem <At o1 HRon gy g W |
PC
(b) “orufi faepr S WiedTiad i o foru Sifers et wwar 61 =i 2, Wi Eeht T
%o i
YT HU o IATeTIh H Afereh Wefl o foheal gf Il o HIHISTT T TIY H |
33. (a) (i) HfHeh-SHEE ITATA 1 URTT < | $eh! ITiar Y faa=mr &t |
(i) ‘o fren oft B % W AfiuE Y v wiiEnies seEE @ 9 T,
g 3Tk HTd ScATEhHAT I | I
i SRfY % s bl ferq ot fewoft it & 3799 ST o T § A SroT e |
A0
Gb) () A AY INGR o Td H hE Hidl 8, 38 1 dl Tohe o A1 &l 3 o6 9 1
PraH e Srar g |
wagaﬁm%mﬁwﬁ%%mmm%?amw%w%hﬁéa
BT |
(i) “1990 % <uh & 3d § YA 7 Hehel Te] 391G (GDP) i ghg T TR
Yo o ALY Ueh SATTh ST A foham o7 | forem=m i |
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31. On the basis of the given data :

Some Selected Indicators of Human Development, 2017-2019

Item India China Palkistan
Human Development Index (Value) 0.645 0.761 0.557
Rank (based on HDI) 130 87 154
Life Expectancy at Birth (years) 69.7 76.9 67.3
Mean years of Schooling (% aged 15 and above) 6.5 8.1 5.2
Gross National Income per capita (PPP US$) 6,681 16,057 5,005
Percentage of People living Below Poverty Line (National) 21.9* 1.7%* 24.3*
Infant Mortality Rate (per 1000 live births) 29.9 7.4 57.2
Maternal Mortality Rate (per 1 lakh births) 133 29 140
Population using at least basic Sanitation (%) 60 75 60
Population using at least basic drinking 93 96 91
Water Source (%)

Percentage of Undermourished Children 37.9 8.1 37.6

Note: * for the year 2011; for the years 2015.
Human Development Report 2019 and 2020.

Identify one income indicator and one health indicator, each.
Compare India and China on the basis of any one of the indicator
identified above in part (i).

Sources:
@
(i1)

32. (a)

(b)

33. (a)

(b)
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“Expenditure on On-the-job training is an important means of
human capital formation in an economy.”
Give valid reasons to justify the given statement.

OR

“Organic Farming is the need of the hour to promote sustainable
development but, has its own limitations.”

Elaborate any two advantages and limitations each of organic
farming in the light of the above statement.

(@)
(1)

®

(i)

Define Worker Population Ratio. Discuss its usefulness.

‘Mr. Rishi, after completing his education, has joined his family
business but his marginal productivity is zero.’

Comment upon the employment status of Mr. Rishi. Give valid
reasons in support of your answer.

OR
‘Kavya works on her family farm and is neither paid in cash nor
in the form of grains.’
Can she be categorized as a worker ? Give valid reasons in
support of your answer.
“In the late 1990’s India experienced a widening gap between
the growth of GDP and employment generation”. Discuss.
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34. frafafed T &1 eamyEs e S aun U U gl w1 3T 36 9 I 9E %
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1991 % “37fefe gari” & 3faria TRY fohw MU wnficaesil 9 SiaTcas TR ST
T <t 3TfefeR fifcdli § weh UfaTies &1 o fafea foram o | Sdrdn o oA gerehi @
a1 fereprar Wit a1 amfefes ot amafses =m 3 aamar o @1 IcdTed 9 IR
st gfig T % ez A e off |
1970 % qvaTq | Ig NS fohar e fop, anfefes nfafafermy w6 frmi st swnfiran
AT &1 Feh! & AT Id § ¥ 3Tffeh foehrd # anereh 54 T 8 | 39 Wi 3O H 9ehr
1980 o T3 o YRH ¥ HB T ICRIHT IR hl JE3TTT 61 ot |
BTeA(eh, WA Tefererer bl 3fer € WISt Hehe o1 ATHAT AT UST T TRUTHEEY
(i) ot I hiar Hr AffTEdar;
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ECE
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TerehTa U & STTEY ST T |
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34. Read the following text carefully and answer the given questions on the

basis of the same and common understanding.

The stabilisation and structural adjustment measures, initiated under the
1991 “Economic Reforms” mark a watershed moment in India’s economic
policies. For almost three decades since independence, India’s development
strategy and economic policies were guided by the objectives of accelerating

the growth of output and employment with social justice and equity.

Ever since the 1970’s, it was realised that many of the regulations on
economic activities have outlived their usefulness and were in fact
hampering economic growth and development. In response to this, the
government initiated some milder liberalisation reforms for almost a

decade since the early 1980’s.

However, the Indian economy soon had to face the Gulf crisis and

consequently :

(1) The uncertainties about the oil prices;

(1) The external payment problems;

(ii1) The serious inflationary pressures;

(iv) The scarcities of essential commodities;

(v) The deterioration of fiscal discipline, etc.

These led to the Indian economy on the verge of Economic crisis.

In response to this emerging crisis, the Government initiated a set of

stabilisation and structural reforms like :

(1) Reduction in fiscal deficit;

(i1) Containment of growth in money supply;
(i11) An exchange rate adjustment system etc.

The key objective of stabilisation policy was to bring the growth of

aggregate demand in line with long term growth path of the economy.
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JrefeIaET % ITYfd 9 H IR o T 1M & &9 § GlaTcHS GURINE 3T
[EREISC TR

Q) 3 ARHE! w1 Y

(i) AU =R 1 R o areft ifa sy &1 et

(iii) Tt & o1 faframm

3O STfeTewT o Srefehicres forehTe U sl &1 quid: see fea |
(wefiepd T Hailfere)

Source :
https://niti.gov.in/planningcommission.gov.in/docs/reports/genrep/arep9099/at94-
95.htm

(2) 1991 H 3 Gl <l JE3TA % febeel S1 ol w1 Gty o Ywifend i |
(b) TEHR A 31T Tehe T B i o TeTw Tfcaenil F TTeHTcHS LR Ut fhu o |
T TR G 3TUATS T8 57 el 1 @ Teelt o 3e3ai o1 Sooid i |
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(@)

(b)

58/2/1

In conjunction, the structural adjustment measures like;

(1) industrial delicensing
(i1) liberalisation of policy regime governing international trade
(i11) deregulation of financial sector

Were taken to improve the supply side of the economy This shifted
the long-term growth path of the economy itself completely.

(Adapted and modified)

Source :

https://niti.gov.in/planningcommission.gov.in/docs/reports/genrep/arep9099/at94-
95.htm

Briefly outline any two reasons for the initiation of Economic
Reforms in 1991.

Government introduced a set of stablisation and structural reforms
to solve the economic crisis. State the key initiatives and objectives of

these policies adopted by the Government of India.

Dol
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" 3391 :
FHETITIRGT 159 %1 aga TIae] & 91T 7R 37 & & G Hry :
() 39 597-97 H 34 J97 & | @HT I97 HfAard & |
(i)  ¥8 ¥o7-97 g1 GUSI H 1a¥T19d & :
GUE & — THC YT
GUE @ - YR 3% [FdHr
(iii) 3 ¥97-99 4 UH-UF 37% & 20 Tglascqid 597 & /|
(iv) 3G ¥97-7 4 @iA-a17 371 & 4 TG-IT0T FHR-I & 97 & 15779 I 60 & 80 71551

7 fo@ 57 =ee |

() 3§ FT-99 7 GR-GR 7P P 6 TG-IT0T TBR-II & F97 & fo7a I 80 & 100

y5g] 7 7@ i =T |
(i) 3G JHH-T H B:-T: bl & 4 JF-370F JFR & 97 & 578 37 100 & 150 sl
7 for@ s =il |

(vii) Y% J97 & GYT YT & I U Grg forgd S =nfau |

QUE &
T AdITEH

1. f=afafad st S emgEes ufeu :

Fo71: Ad B UM Bl 8§ T (derive) TR ST dehar 7 |
HYT2: UM G5k Hod YA ol § TRFEY BHT =M(8T |
feu U el % AT H, faiad # 8 wEl faeed w1 =e hifve 1

(a) hYF 19T g N HIT 2 37T 2 |

(b) HIT 13T 2 N FAT 2T 2 |
(¢) HIT 13N 23 T B |

(d) HIT 13 23 3T 8 |
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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)

(i)

(iii)

(iv)

(v)

(vi)

(vit)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two Sections :

Section A — Macro Economics

Section B - Indian Economic Development

This paper contains 20 Multiple Choice Questions Type questions of 1 mark
each.

This paper contains 4 Short Answer Questions Type-I questions of 3 marks
each to be answered in 60 to 80 words.

This paper contains 6 Short Answer Questions Type-II questions of 4 marks

each to be answered in 80 to 100 words.

This paper contains 4 Long Answer Questions Type questions of 6 marks each
to be answered in 100 to 150 words.

Attempt all parts of a question together.

SECTION A

Macro Economics

Read the following statements carefully :

Statement 1: Savings function can be derived from Consumption

function.

Statement 2 : Consumption curve must always start from the point of
origin.

In light of the given statements, choose the correct alternative from the

following : 1

(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d)  Both Statements 1 and 2 are false.
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9. T HU ¥ omfEfid WY W, A sii aw # w ot A Hwa e
&, dl 78 T THAT 2 |
(kT 9 o ToTT @71 forehed 1 == hilT)

(a) SR =R H Jfg

(b) SIUR U1 U HH]

(c) SIYR U1¢ U hls YiEdd &l

d) facsht go1 wer ¥ g uiEdq &

3. UgaH R fop, Fafafad § @ w1, YR figd S o1 @ + 8 787 ? |
(Tt fasheq =1 =M HifST)

(a)  HgT 3MYfd e

(b)  TTUTfSeh Siohl <kl RUT TETd

(c)  HHR I MY Soie I ATt J&F TS

¢

(d)  HE Y fidesdt / SRl

4. TfaRad HeAT Hl SHIEH QT :

HY71: T3 § WU A, VR PIAH HoH % =19 @d % Sfae 98 4
sl fepam ST |

HYT2: WA WA 9§ faceft geamm@ fEw (FID 1 sfgaig (outflow)
US @Td h shiee 9&1 H qui fohdl STQ |

feu U seET % I H, faiad § @ gEl faehed 1 =w9H Sifve

(a) hYF 19T B I HIT 2 379 2 |

(b) HA 1ITIE AN FIH 2T 7 |
(¢) HIT 13N 22 T B |
(d) hIF 13 2T 9T B |
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2. Keeping other factors constant, if the price of crude oil falls in the
international market, it may lead to .
(Choose the correct alternative to fill up the blank) 1

(a) increase in trade deficit
(b) decrease in trade deficit
(c) no change in trade deficit

(d) no change in the foreign exchange reserves

3. Identify, which of the following is not a function of the Reserve Bank of
India. (Choose the correct alternative) 1

(a)  Controller of money supply
(b)  Credit provider to commercial banks
(c) Central agency preparing the annual budget of the Government

(d)  Issuer of currency

4, Read the following statements carefully :

Statement 1: Import of gold from Dubai will be recorded on the debit
side of the current account in Balance of Payments of
India.

Statement 2 : Outflow of Foreign Institutional Investment (FII) from
Indian stock markets will be recorded on the credit side of
the capital account.

In light of the given statements, choose the correct alternative from the

following : 1
(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.
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(1)

(i1)

(1)

(i1)

freferfad et i eaHgE® dfeT

%Y 1: TIh = Hl THA % Th (o T AT AT 2 |

FHY72: TATE T T Wik =R Th I9H 8Id @ |

feu u el % 3retes U, Fmfeifaa § @ T fasew o1 =m Fifv
(a) Y 19T 3 3N HYH 2 370 2 |

(b) HIT 1A I FIT 2T B |

() I 1IN 2TF AT |

(d) e 1R 2El A ¢ |

areran
ffefaa o @, yamg =X H ygaH I : (T fahew w1 ==q Fifw)
(a) Tooolt 9 maet & wen i gl
(b)  Ueh Tomme™d w1 aTfve =
(c)  31HM, 2022l o HehaT <hl Sk H STHT G
@ 31 femmsw, 2021 i off mifgq & few

Ife ueh Fdeyazen H, Ay U HT ged 5 qeT FEEd (—)100 S B,

A T 1,400 HUS o M TR W YR s=d T HUg B |
(fek o™ e < ToTT 9@t sk &1 == i)
(a) 80 (b) 180
(c) 140 (d) 240
aroran
[EERNIRIETCT i o G o % U @l 7 |

(Teh Tl ot ¥ & e gt fashew 1 =r9= $ifs)
(a) A (0), 3 ()
(b) TS (+ 1), I (o)
(©) I (0), 3HTE (+ 1)
(d)  FRUITCHS $HIS (— 1), THT8 (+ 1)

[




58/3/1

1)

(i1)

1)

(i1)

Read the following statements carefully :
Statement 1: Stock variables are measured at a point of time.

Statement 2 : Flow variables and stock variables are same.

In light of the given statements, choose the correct alternative from
the following : 1

(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.

OR

Identify, flow variable from the following :

(Choose the correct alternative) 1

(a) Distance between Delhi and Amritsar

(b) Annual expenditure of a school
(¢) Bank balance of Mr. Mukesh as on 315t March, 2022
(d) Investments of Mr. Mohit as on 315t December, 2021

If in an economy, the value of Investment Multiplier is 5 and
dissavings are (—)100 crore, the relevant savings at income level of

T 1,400 crore would be T crore.
(Choose the correct alternative to fill up the blank) 1
(a) 80 (b) 180
(c) 140 (d 240
OR

The range of value of Investment Multiplier is always between

and . (Choose the correct alternative to fill up the blanks) 1
(a) zero (0), infinity (eo)

(b) one (+ 1), infinity (co)

(c) zero(0),one(+1)

(d) minus one (— 1), plus one (+ 1)

<> 5 PT.0.
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TG hrad Sih, TTITEAT H HgT HATY(d I HH ST AT8dl 7, dl 98
L Tl 7 | (Fh TaH W o fofT @@t foshed w1 =9 hife)

() o @HIMg

(i)  Tohg SIRI&T I | HHl
(i) Gt IR § gfavfet & fospa
(iv) g SR H Shifei &1 5

forehed

(a) ()4 (3{ii) (b)  (ii), (i) & (iv)

() (1), ) d aGv) d) (D, 1), (i) T (iv)

(%) vgaH i o, Frafafga @ @ sH-a1, yra & foe fagef ggr = &
TET 2 | (Tt faehed 1 == hifo)

(a) Tacsni =1 awqen 9 waret =1 ffa

(b) foewi & wrd worgdl grr ST

() foeen & a&qatt o Qe 1 AT

(d) 9 AHETsd T g Teae faesht fasr (FDI)

CPE|
(@) Hia| 19 I1H 3 TS TGl ol SAHYdh digq am fu 7 faswedi # 9 @&t
IH 1 T HINT :
i 1 HIcTH 11
i. YA FFoHT R |igee X 1 | 1. | foeeft ggr <1 wim
ERIG)
ii. | THC i THTINSH Jehic 2. | oY T
iii. |THCT I T Yohla 3. | ey 329
iv. | #ficieRt o1 oTIfeles Gehe § foam | 4. | feresht qer < amfd
T SROT
foepey
(a) 1-1 (b) -2
(c) 1i—3 d iv—-4



7. If the central bank wants to reduce money supply in the economy, it may
(Choose the correct alternative to fill up the blank) 1

(1) increase Bank Rate
(11) reduce Cash Reserve Ratio
(i11)  sell securities in the open market

(iv)  buy securities in the open market

Alternatives :
(a) (1) and (iii) (b) (i), (ii1) and (iv)
(¢) (@), (dii) and (iv) d @), @[, (iii) and (iv)

8. (A) Identify, which of the following is not a source of supply of foreign
exchange for India. (Choose the correct alternative) 1

(a) Exports of goods and services abroad
(b) Remittances by Indian workers working abroad
(c) Imports of goods and services from abroad

(d) Foreign Direct Investment (FDI) by a German automobile

manufacturer
OR
(B) Read the items given in Columns I and II carefully and choose the
correct pair of statements from the given alternatives. 1
Column I Column 11

i. Export of software by an | 1. | Demand of foreign currency
Indian company

1. Accommodating nature 2. | Profit motive
of transactions

1ii. Autonomous nature of 3. | Non-Profit motive
transactions

iv. Loan forwarded to Sri 4. | Supply of foreign exchange
Lanka during its
economic Crisis

Alternatives :
(a) 1—1 (b) -2
(c) 1i—3 (d) iv—4

58/3/1 9> 24 P.T.O.



10.

58/3/1

FrafaRaa ot =1 ufew @ efipem (A) 3R wror (R) | = fou o faespedt o

T U Tdl faehew gihw

YT (A) : TAMRG qod 9 FearRd o ot ft Thgel & sew &
& |

FRU(R): ™ & GdeH TR W, 3 Tehdl 7 T9T T, 997 Yfd & e
T 2 |

ICETE IR

(a) AMMHAT (A) 3 HROT (R) T T & 3 RO (R), TR (A)
Hg! ST HLdT § |

(b) MR (A) 3T ST (R) ST T &, Aiehd RO (R), ANTHIT (A)
1 T AR FgT AT B |

(c)  3MMH (A) TT B, oifehd RO (R) 3 7 |

(d) 3R (A) ITHT B, Afehd SR (R) I 7 |

fafafaa et =1 afew @ rfiesed (A) 3R i (R) | 9 feu mu faeredt #
T T T8l fashed T

SfyHT (A) : 3AEd ITHM TG (APC) 1 Hod ¥l Wt I a1 RO
& & EhaT 7 |

HRO(R): 3G I9AT YGiT (APC) 3 & & & &l Bidl 2 |

ferened

(a)  ITHI (A) 3 SR (R) THI T & TR RO (R), AMHT (A)
g ST KT 7 |

(b)  IYHYH (A) 3T RO (R) HI T &, AAfehd HRUT (R), AT (A)
1 TET AT T BT 7 |

(¢) IR (A) T 3, Wlhd RO (R) I8 3 |
(d) IR (A) T B, Afehd SR (R) T 7 |




9. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : Ex-ante savings and Ex-ante investments are never equal

to each other.

Reason (R) : At equilibrium level of income, aggregate demand may not

be equal to the aggregate supply.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

10. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : The value of Average Propensity to Consume (APC)

can never be zero or negative.

Reason (R): Average Propensity to Consume (APC) is independent of
the level of income.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.
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11.

12.

13.

14.

(%) Tcue & g’ 9 Yed iy ° favg A |
T
(@) fr=fafad sem i gfte Hifdw -

“SeaTfSTd TS o SR TRl Fafc o Yoo W HHl, qeag@ gt g |7

T fafima < gl & SFariq fafma o & Fafor 6 989 § fae=man fifse |

o T T e hiedfe referasen & an 4 fefeifad F=T 3uersy & :
C=100+075Y (J& C =399 9 Y = 37¥)

I, = 200 (I, = Tmra o)

& TE g % R W Ffafaa S e fife

(a) T 1 Gde &

(b) A % A TR T FHH H
(c) HHE s=d ygfd

(%) TrRIiad YT 1 HYES AT HIVT -

“arta e o <k \Aifges Aifa wfafa (MPC) 3 g1 & 9 W @ H 50
YR 37ehi I Jhg h1 2 | TAUH § T8 W 540% &, Tafeh fad W R
&1 3-35% W IiEfdd W@ g |7

i) 3w T H Sfeafgd g Aifgew Afa suri b gl Al wEEH
i |
) Hifgss Hifa wfufa gro W g 4 gfg & 4@ & @wfaa i T
T o= T |
HAAAT

(@) AW Wi foh T Siedfen refeaasdn § feumaiy § = A i feufa
ICECICR
SAJIIEAT W 3Tk THTIIG IHTat <hl Ffered faa=mr i |
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11. (a) Differentiate between ‘Value of Output’ and Value Added’. 3

OR

(b)  Justify the following statement :
“Depreciation is a fall in the value of an asset due to expected
obsolescence.” 3

12. Discuss briefly the determination of exchange rate under the flexible

exchange rate system. 3

13. Suppose the following information is given about a hypothetical

economy :
C=100+0-75Y (where, C = Consumption and Y = Income)
I, =200 (I = Autonomous Investment)

Calculate the following on the basis of the given information :

(a)  Equilibrium Level of Income 2
(b)  Aggregate Demand at Equilibrium Level of Income 1
(c) Marginal Propensity to Save 1

14. (a) Read the following information carefully :

“The Monetary Policy Committee (MPC) of the Reserve Bank of
India (RBI), recently increased the Repo Rate by 50 basis points.
The Rate stands today at 5-40%, whereas Reverse Repo Rate was
left unchanged at 3-:35%.”

Answer the following questions :

(i) Identify the nature of the two monetary policy measures

mentioned in the above text. 1

(ii) Elaborate the likely economic rationale behind the increase in
Repo Rate by the Monetary Policy Committee. 3

OR

(b) Suppose an imaginary economy is facing a situation of deficient
demand in the short run time period.

Discuss briefly, the probable impacts of the same on the economy. 4
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15. 3I9Ych HEATCHS 3ISEW hl TAT A gU, Th ehicdieh feqaean H, s
TUITE! <h1 g 0T Sifshan shi SmE HIT |

16. (&%) (@)

(i)

(@) @)

(i1)

g =, €9 9 &Y, T & H TR g Uvead (Toamedt) awgati
W GST gl # gfg & yue W ==l s I | FY &1 fa=m of 6
JTeehrer Ugad Wi aegett (W9 fop fogeft ymor, smefaa fame,
Q) W AT HL AT AT AMTEY STalfeh e 3T ey a7
T gafud ofes Uy 6 aEe HIHE B |

Y TR I & 99 3IgF o 9 H g1 ¢ & 3§, 39 98aH
g ST HIT |

IR <l Toregl @ TR T o 32Te0l i |

AT

‘T & Tt O, WA TR 4 Uh-3a-3fear’ wEdsH & SAdd
TRl TET IEGIT oh SATUUFY W A4k =37 fham & |7

ITYTh HYF o AR, TR GRI bt I AT Teohedl Gl Soie S

&1 gga™ 9 ==l hifau |

R T91¢ o T TSIohIN I =1 o1 37 §dT8u |

17. T=afaRea ™ # emgEs ufeu

Hifae-19 % IWd ¥R H, Fsit 1fqw 39 == (PFCE) g |19 ™1 Sie] 9
st & 1 3uam (Wifgss &9 #), T 39-7 feforem (FY23, Q1) o &t fo6 7ma o
3t srafy ° = 284 fefermm on | o 2021 - 22 (FY22) i =eft faumdt (Q4) #
Jg = T 39-2 foferam o |

Hifger GDP % ufasd & &9 ¥ focfiw o 2022 h) vgelt fammEl (Q1 FY22) h
55-5% % gl PFCE 61-1% &1 | gcliich aidiash &9 H fRR Shmdl m,
Hifae-19 ¥ T a9 qd, 2019 — 20 % Q1 H g1 § PFCE | A 9-88% hl

gig 3 g8 ot |
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15. Using a suitable numerical example, explain the credit creation process
of the banking system, in a hypothetical economy. 4

16. (a) () Two friends, Deepak and Krish were discussing the impact of
increase in GST rates on luxury items, as recently undertaken
by the Government. Krish was of the view that most of the
luxury items (like foreign travel, imported cigarettes, etc.)
should be taxed exorbitantly, while the items related to daily
consumption of poor and middle class should be tax-free.
Identify and explain the objective of the Government budget

Krish is suggesting. 4
(ii) State any two examples of non-tax receipts of the
Government. 2
OR
(b) (1) “In the recent times, the Government of India has incurred a

lot of expenditure on acquisition of indigenous defence items
under ‘Make-in-India’ programme.”

Identify and discuss the two types of budget expenditures
which may by undertaken by the Government as suggested in
the above statement. 4

(ii) State the meaning of ‘fiscal deficit’ under the Government
Budget. 2

17. Read the following text carefully :

In India, after Covid-19 period, household and private sector
consumption, as measured by Private Final Consumption Expenditure
(PFCE), was ¥ 39-7 trillion in nominal terms in Q1 FY23, compared with
T 284 trillion for the same period last year, and ¥ 39-2 trillion in the
fourth quarter (Q4) of 2021 — 22 (FY22).

As a percentage of Nominal GDP, PFCE was 611 per cent, compared
with 55-5 per cent in Q1 FY22. However, in real terms at constant prices,
PFCE grew just 9-88 per cent, compared with Q1 of 2019 — 20 — the year
before the Covid-19 pandemic.
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oft €. sffareaa 3 sarn o6, “SRe] 7 # g9 PFCE 9 GFCF (Fha Tomri
aoft fomior) it afg o (a0 a8 i wra fomrdt < g #) & itetid gar g 17
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I Ygia 7dfera off ifeh aawe Q1 H GFCF 7Td 99 o Q4 % S-edd HHT=Ia:
+Y Bt oft |
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“Recovery in domestic demand is reflected in the growth rates of PFCE
and Gross Fixed Capital Formation (GFCF) over the corresponding
quarter of the previous year,” said D.K. Srivastava. GFCF came in at
T 19 trillion in Q1 FY23, compared with ¥ 14-4 trillion in Q1 FY22.
However, it was slightly lower than ¥ 20-2 trillion in Q4 FY22.

In the media briefing after the GDP numbers, Finance Secretary
T.V. Somanathan said this trend was expected as GFCF in present Q1
was usually lower than the previous year’s Q4.

On the basis of the given text and common understanding, answer the
following questions :
(a) Compare and analyse the trends of change in PFCE as a

percentage of GDP, both in real and nominal terms. 4

(b)  “Private Final Consumption Expenditure is an important factor
determining Gross Domestic Product at Market Price.” Justify the

given statement. 2

SECTION B

Indian Economic Development

18. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : Post independence, public sector was given a prominent
role, due to requirement of huge investments in the
secondary sector.

Reason (R): Industrial sector is the backbone of any economy.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.
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20. (A)
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From the following alternatives, identify the correct full form of

‘NITT in NITT Aayog :

(a) National Institution for Tribal India

(b) National Institution for Technical India

(c) National Institution for Transforming India
(d) National Institution for Training India

OR

Ina economy, resources are owned and operated by both

public and private sectors.

(Choose the correct alternative to fill up the blank)
(a)  Socialist (b)  Capitalist
(c)  Democratic (d) Mixed

Identify the correct alternative with reference to the following
statement :

“Between 1966 — 76, Mao introduced this movement under which
professionals and students were asked to work and learn from real

life situations prevailing in the countryside of China.”
(a) Commune System

(b) Great Leap Forward

(c) Open Door Policy

(d) Great Proletarian Cultural Revolution

OR

Read the following statements carefully :

Statement 1: In the agricultural sector, communes were
established, where land holdings were allocated to
individual households for ownership.

Statement 2 : Special Economic Zones (SEZs) were established to
attract foreign investments and technology.

In light of the given statements, choose the correct alternative from

the following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

5 PT.0.
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(A) Micro credit programmes play a vital role in ensuring an overall
development of the rural economy as they
(Choose the correct alternative to fill up the blank) 1

(i) provide financial support

(i1) lead to women empowerment

(iii) enhance the reach of formal credit system
Alternatives :
(a)  Only (i) and (ii)
(b)  Only (i1) and (iii)
(¢)  Only (i) and (iii)
(d (1), (i) and (ii1)
OR

(B) revolution was the harbinger of major changes in the

credit system as it led to diversification of the portfolio of rural
credit towards production-oriented lending.
(Choose the correct alternative to fill up the blank) 1

(a)  White
(b)  Silver
(c) Blue

(d) Green

“Multiple reasons for economic slowdown and re-emergence of poverty in
Pakistan may be enumerated.”

Identify which of the following might not be one of them. 1
(1) Rising dependence on foreign loans
(ii))  Stable macroeconomic indicators

(iii)  Unstable agricultural growth
Alternatives :

(a) (i), (i) and (ii1)

(b) (i) and (iii)

(¢) (1) and (iii)

(d)  Only (i1)

<> 5 PT.0.
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23. Identify which of the following does not reflect a direct relationship

between human capital formation and economic growth. 1

(a) Employability of an educated person is higher than that of an

uneducated person.
(b)  On-the-job training will reduce the skills of labour.
(c) Healthy workforce is a boon to the economy.

(d)  Digital information helps in taking real time decisions.

24. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : Lower child mortality rate is a better indicator of gender

equality.

Reason (R): Preference for a male child exists in India, Pakistan and

China.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.
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25. (A adopted the resolution to ban the wuse of
Chlorofluorocarbon (CFC) compounds along with other ozone

depleting chemicals.
(Choose the correct alternative to fill up the blank) 1

(a) Kyoto Protocol
(b) Paris Protocol
(¢) Montreal Protocol

(d) Brundtland Commission Report

OR

(B) According to Herman Daly (an environmental economist), which of
the following is not an essential step towards achieving sustainable
development ? 1
(a) Limiting human population to carrying capacity of the
environment

(b)  Input inefficient technological progress

(c) Rate of extraction of renewable resources should not exceed
rate of regeneration

(d)  Correction of inefficiencies arising from pollution

26. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below. 1

Assertion (A) : Government can try to reduce unemployment through
special poverty removal programmes.

Reason (R): Such poverty removal programmes directly or indirectly
lead to employment generation.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

58/3/1 <25 > 24 P.T.O.



27. fmAfIRad el I LHgEs ey

Fo71: I ARl grr SHEEn T 9 0 Teha "a Aifld
YN A THTE & | R T o |

FYT2: IS fagMl & TER, Thdd FaW Aifd g formm Iuma (I
TR eVl § AfgaArsTi ol 3q4Td) | FRrae i of |

feu U St & It 1, f=feifaa # © @& fasew w1 w=w Sifve

(a) AT 1T 3 AN HIT 23T 8 |

(b) HIT 1ITT L INMFI 2T 2 |

(¢) YT 13 2THI TcF 2 |

(d) YT 1R 2TH A 2 |

28. (%) HAffeh-SHEE AU I TRATNG HITT G STHT He™ FATST |
HAAAT

(@) “Ha Sl a AHa fow ® favg S |

29. AT hIWC foh form TR T wifad ‘FfY fouom gomelt” fopami <t o1 dfg
T HE Bl 8 |

30. T=fcaiRga arferet &l eHgEe afeq :

fafira el § 3c97G7 Jhy @1 I3, 1980 — 2015

37 1980 - 90 2011 - 2015
HIY FET gar Py JET gar
qRd 31 7-4 69 2-3 5 84
= 59 10-8 13-5 41 81 84
iR 4 77 68 2:7 34 4-4

fqu U auf < SR, IRA 9 <4 | T &= § Iced gig i II (trend)
forgermor ifse |

31. (%) “&3 rfereh I8 AHd & 6 1991 1 snifels gum ufkan 3 Y &3 W
gfcehed T9TE STl & |7 91 A9 fou T e ¥ HeHa 7 ? 79 W h
98T § HIT b T&qd hig |

T
@) () fofew ymam w6 Aenfies Hifa H e @ Himt Ht s
HIfST |
(i) VR TFaSiE AT TERAT o IR 3Le1 T AW faRaT |

58/3/1 20

=




27.

28.

29.
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31.
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Read the following statements carefully :
Statement 1: ‘One-child policy’ was very effectively used in controlling
the population by the Chinese authorities.

Statement 2 : One-child policy, according to scholars, led to a decline in
gender ratio (the proportion of females per 1000 males).

In light of the given statements, choose the correct alternative from the
following :

(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

(a) Define worker-population ratio and give its significance.

OR
(b) Distinguish between ‘Human Capital’ and ‘Human Development’.

Elaborate how a well-structured °‘Agricultural Marketing System’ helps
the farmers to increase their income.

Read the following schedule carefully :
Trends in Output Growth in Different Sectors, 1980 — 2015

Country 1980 - 90 2011 -2015
Agriculture | Industry | Service | Agriculture | Industry | Service
India 3-1 7-4 6-9 2-3 5 8-4
China 59 10-8 13-5 4-1 81 8-4
Pakistan 4 77 6-8 2-7 3-4 4-4

Analyse the output growth trend in the three sectors over the given years
between India and China.

(a) “Many economists believe that the economic reforms process of
1991 had adversely affected the agricultural sector.” Do you agree
with the given statement ? Quote valid arguments in favour of your
answer.

OR
Explain any two shortfalls of the industrial policy under the
British rule.

(i1) Quote the four goals of the five year plans process of India.

(e

o) @
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32. State whether the following statements are true/false, with wvalid
arguments :

(a)  Economic participation of women as homemakers is not accounted
for in the Gross Domestic Product. 2

(b) Indian economy has shown excellent shift from informal sector to
formal sector in the recent past. 2
33. (a) (1) Explain the role of education in the economic development of

the nation. 4

(ii)) State the importance of rural banking in an economy like

India. 2
OR
(b) ({)  Who is a casual wage labourer ? 1
(ii) State and discuss any one recommendation of the Education
Commission (1964 — 66). 2
(iii) In the light of the given image, identify and explain any one
strategy to ensure sustainable development. 3

Note: The following question is for the Visually Impaired
Candidates only in lieu of . No. 33 (b) (iii) :

Explain any one function of the environment. 3

58/3/1 24 P.T.O.



34. frfafaa ma +t eamyEs ufeu

TIAAdT & Y, YR o 3N TAMYAT & 3194 3299 ol ITed A o I
s¢ Irfeugren Hisd 1 = fohar o | ufomaEd, sfenfies e ITcud
Ul S T o1 | Tl SR, Hraifien fashe yuw 31 gwehl § 9gd i
o, @EdR W gl 9 el diem sty 4 | fedia ae A qw  SShenfies
Shifd’ 1 3T R o | 39 orafy o g ofenfies fosm gt = uit@ifera g9 &
&I SR 9

() et e & sfemfiee = o |

i)  Menfies Hfifa g a9 #§ efier fam i e 3899 F9T |

(iii)  frenfies & # awar fmior % TmeH & faw wit fes e |

(iv) THIS % STU&THd dgal a7 T el Iuihist i 3 & fafim yer &
T IcaTet i /I H gy |

(v) ERel o= 9 faeett & urea areEt g a|ida offdes faear <6 7ifd |

13T 77T =T T GIHI=T THF & SMIR T/ AE071&Gd T & IFa GIorg :
(%) wRa i gt g=eia Ao Sl rAmEfy 1 Seci@ HIfT |
(@) wra i fgd g=adie ST 61 S T 81 ST 8 2

() fodta 9 g doaia ASHIST o STAd WRA ! dig il faee
T o fopdl < ol shi wftrea =it ST |

58/3/1 20



34. Read the following text carefully :

With independence, India chose the closed economy model in pursuit of

its objective of industrial self-sufficiency. As a result, industrial structure

has become considerably important. In the post-independence era, the

industrial growth was rapid during the first two decades, especially
during the Second and Third Plan period. The Second Plan introduced

‘Industrial Revolution’ in the country. The main reasons for high rates of

industrial growth witnessed during this period were due to :

1)
(i1)

(iii)

(iv)

(v)

Emphasis on industrialisation in economic policies.

Making industrial growth the main objective in the industrial
policy and planning.

Huge investments being made to support capacity creation in the

industrial sector.

Growing demands for a variety of new products on the part of the
urban consumers and the relatively better-off sections of the
society.

Pace of economic expansion supported by domestic savings and
inflow of resources from abroad.

On the basis of the given text and common understanding, answer the

following questions :

(a)
(b)

(c)

58/3/1

State the time period of the Second Five Year Plan of India.

Who is considered as the Father of the Second Five Year Plan of
India ?

Discuss briefly any two reasons behind the industrial growth
during the Second and Third Five Year Plans of India.
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General Instructions :
Read the following instructions carefully and strictly follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two Sections :
Section A — Macro Economics
Section B - Indian Economic Development

(iti) This paper contains 20 Multiple Choice Questions Type questions of 1 mark
each.

(iv) This paper contains 4 Short Answer Questions Type-I questions of 3 marks
each to be answered in 60 to 80 words.

(v) This paper contains 6 Short Answer Questions Type-II questions of 4 marks

each to be answered in 80 to 100 words.

(vi)  This paper contains 4 Long Answer Questions Type questions of 6 marks each
to be answered in 100 to 150 words.

(vii) Attempt all parts of a question together.

SECTION A

Macro Economics

1. Read the following statements carefully :

Statement 1: Investment is defined as addition to the physical capital
and changes in the inventory.

Statement 2 : At equilibrium level of income, ex-post investments and
ex-post savings are always equal.

In light of the given statements, choose the correct alternative from the

following : 1

(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d)  Both Statements 1 and 2 are false.
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2. An Indian company receives a loan from a company located abroad. This
transaction would be recorded on the side of
account in India’s Balance of Payment.

(Choose the correct alternative to fill up the blanks) 1

(a)  Credit, Current
(b) Debit, Current
(c) Credit, Capital
(d)  Debit, Capital

3. The Reserve Bank of India (RBI) government securities in a

bid to the stock of money in the economy.
(Choose the correct alternative to fill up the blanks) I
(a)  sells, decrease
(b)  purchases, decrease
(c) sells, increase

(d)  purchases, not change

4, Read the following statements carefully :

Statement 1: Balance of Payment account is always balanced in

accounting sense.

Statement 2 : Autonomous transactions, restore balance in Balance of

Payment account.

In light of the given statements, choose the correct alternative from the

following : 1
(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.
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5. (A) Choose the correct alternative to fill in the blanks (i) and (ii) in the

figure. (1) e—— 111COME 1

Factors of Production

Household

Goods and Services

(1) p—— Expenditure

Alternatives :
(a) National, Production (b) Factor, Production
(c) Factor, Consumption (d) National, Consumption
OR
(B) Operating Surplus does not include
(Choose the correct alternative to fill up the blank) 1
(a) Interest (b) Rent
(c) Profit (d) Compensation of employees

6. (A) If the Marginal Propensity to Save (MPS) is 0-5, what will be the
value of investment multiplier ?  (Choose the correct alternative) 1
(a) 1 (b) 2
(c) 16 (d) 145
OR

(B) An increase in National Income occurs by ¥ 3,000 crore, as
investments increased by ¥ 1,200 crore. The value of investment
multiplier would be

(Choose the correct alternative to fill up the blank) 1
(a) 2 (b) 25
(c) 4 (d 5
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7. Demand Deposits include .

(a)
(b)
(c)
(d)

8. (A)

(B)

(Choose the correct alternative to fill up the blank)
Currency and coins held with the public
Other deposits with the Government
Savings Account Deposits and Fixed Deposits
Current Account Deposits and Fixed Deposits

Read the following statements carefully :

Statement 1: Depreciation of domestic currency may lead to a
rise in exports.

Statement 2 : Due to the depreciation of Indian National Rupee
(), purchasing power of US Dollar ($) may

increase.

In light of the given statements, choose the correct alternative
from the following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

OR

Identify, which one of the following is an intangible item in
Balance of Payment (BoP).

(a)  Export of food grains

(b)  Imports of crude oil

(c) Export of Information Technology (IT) services to U.S.A.

(d) Import of coal by steel company in India

9. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative given below.

Assertion (A) : Excess demand does not lead to any increase in the level

of real output.

Reason (R): Excess demand creates a gap between actual demand and

desired demand corresponding to full employment level.

Alternatives :

(a)
(b)

(c)
(d)

58/4/1

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.
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Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative given below.
Assertion (A) : Rich people have lower Marginal Propensity to Consume

(MPC) as compared to poor people.

Reason (R): Consumption curve makes an intercept on the y-axis at a

point above the origin.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

Suppose, the Gross Domestic Product (GDP) at market price of a country
in a particular year was ¥ 1,100 crore. Net Factor Income from abroad

was T 100 crore. The value of Net Indirect Taxes was ¥ 150 crore and the
National Income was ¥ 850 crore. Calculate the value of depreciation for

the economy.
(a) “The central bank needs to intervene under the managed floating
system.”

Do you agree with the given statement ? Support your answer with
valid reasons.

OR

(b) Differentiate between Surplus in Balance of Trade and Current
Account Surplus.

Suppose consumption function for an economy is C = 80 + 0-75 Y (where
C = consumption function and Y = national income) and the investment

expenditure is T 200 crore.

Estimate the following : 242=4

(a)  Equilibrium level of income

(b)  Values of consumption and saving at equilibrium level of income
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14. Discuss briefly, how the government can control the situation of deflation

using the following : 4
(a)  Taxation Policy

(b)  Government Expenditure Policy

15. Read the following text carefully :

“After setting up a working group to study the possibility of a Central
Bank Digital Currency (CBDC) in India in 2020, the RBI revealed a
concept note on digital rupee (e-Rupee) on 7t® October, 2022.”

“The e-Rupee will provide an additional option to the currency available
forms of money. It is substantially not different from bank notes, but

being digital it is likely to be easier, faster and cheaper.”

RBI said that it broadly defines CBDC as the legal tender issued by a
central bank in a digital form. It is akin to paper currency in a different

form.

On the basis of the above text and common understanding, answer the

following questions :

(a) Identify and discuss the function of central bank indicated in the

above text.

(b)  State any two advantages of digital rupee. 3+1=4

16. (a) “Machine purchased by a firm is always a capital good.”

Do you agree with the given statement ? Give valid reasons for your

answer. 3
(b) Define the following : 3

(i) Net Exports

(ii) Externalities

(iii) Problem of Double Counting
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17. (a)

18.

19.

58/4/1

(b)

(i) “Government provides essential items like food grains almost
free to the families below poverty line.”
Identify and explain the objective of the government budget
indicated.

(i1) Define the following :
(1) Revenue deficit
(2) Primary deficit
OR
State whether the following statements are ¢rue or false, with valid

reasomns :

(i) High tax on higher income groups aims to achieve the
‘reallocation of resources’ objective of the Government.

(ii) Borrowings are a revenue receipt of the government.

(iii) Fiscal deficit always leads to inflation.

SECTION B

Indian Economic Development

Under the British Rule, commercialisation of agriculture resulted in
shifting of agricultural production from _ crops to Crops.

(a)
(b)
(c)
(d)

(A)

(Choose the correct alternative to fill up the blanks)
Cash, Food
Cotton, Jute
Food, Cash
Jute, Food

Identify, which of the following alternative is not associated with
goals of economic planning in India.

(a) Ensuring equitable standard of living
(b) Technological advancement
(c) Increase in economic growth

(d) Promoting imports of luxury goods

OR

18> o) P.T.O.
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(B) In 1951, agricultural contribution to India’s National Income was

. (Choose the correct alternative to fill up the blank) 1
(a) Highest among the three sectors
(b) Lowest among the three sectors
(c) Lower than the industrial sector
(d) Lower than the service sector

20. (A) Economic reforms were introduced in the year in India
and in the year in Pakistan.
(Choose the correct alternative to fill up the blanks) 1
(a) 1978, 1988 (b) 1988, 1978
(¢c) 1978, 1991 (d) 1991, 1988
OR

(B) Pakistan is ahead of India in the case of .
(Choose the correct alternative to fill up the blank) 1
(a) HDI value

(b) Per capita income

(¢) Access to sanitation facilities
(d) Life expectancy at birth

21. markets were organised to protect the farmers from
malpractices in mandis.

(Choose the correct alternative to fill up the blank) 1
(a)  Regulated (b)  Periodic
(¢)  Daily (d)  Weekly

22. Arrange the following events of China in chronological order and choose
the correct alternative : 1

(1) Great Proletarian Cultural Revolution
(i1))  Great Leap Forward Campaign

(iii) Introduction of Economic Reforms

(iv)  First Five Year Plan

Alternatives :
(a) (1), (iv), (ii1), (1) (b)  (@v), (i), (1), (ii1)
() (1), (iv), (1), (ii1) d  Gv), @), ({1), (ii1)
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23.

24.

25.
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Read the following statements carefully :

Statement 1: Economic growth means the increase in real national
income of a country.

Statement 2: Human capital formation and Human development are
one and the same concepts.

In light of the given statements, choose the correct alternative from the

following :

(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d)  Both Statements 1 and 2 are false.

Read the following statements carefully :

Statement 1: ‘Liberty indicators’ measure the extent of constitutional
protection given to the citizens.

Statement 2 : India provides fair constitutional protection to its citizens.

In light of the given statements, choose the correct alternative from the

following :

(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d)  Both Statements 1 and 2 are false.

(A) Carrying Capacity implies that
(i) Resource extraction should remain below the rate of
regeneration.
(ii) Resource extraction should remain above the rate of
regeneration.
(iii) Generation of waste should remain within the absorption
capacity of the environment.
(iv) Generation of waste should be more than the absorption
capacity of the environment.
(Choose the correct alternative)

Alternatives :
(a) (1) and (iv) (b) (i) and (iii)
(¢) (ii) and (iii) (d) (i) and (iv)
OR
(B) system restores, maintains and enhances the ecological
balance. (Choose the correct alternative to fill up the blank)
(a) Chemical farming (b) Organic farming
(c) Conventional farming (d) Multi-layered farming

1
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26. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative given below. 1
Assertion (A) : The nature of unemployment problem in India is

multi-faceted.

Reason (R): Worker-Population ratio is an indicator used for analysing

the employment situation in a country.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

27. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative given below. 1

Assertion (A) : China adopted the ‘Open Door Policy’ as a major economic

reform initiative.

Reason (R) : It aimed at industrialising the country on a massive scale.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.
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28. Interpret the given picture with reference to current environmental
challenges. 3

Note : The following question is for the Visually Impaired Candidates only, in
lieu of Q. No. 28 :

Discuss any one current environmental challenge. 3

29. (a) “It is necessary to create employment in the formal sector rather
than in the informal sector.”
Defend or refute the given statement with valid arguments. 3

OR
(b) Discuss briefly, why agricultural diversification is essential for
sustainable livelihoods. 3
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30. From the data given below, compare and contrast India’s and China’s
sectoral contribution towards GVA / GDP. 4

Sectoral Contribution to GVA/GDP (in %) (2018 — 19)

Sector India China
Agriculture 16 7
Industry 30 41
Services 54 52
Total 100 100

31. Discuss any two liberalisation measures pertaining to the financial
sector, introduced by the Government of India during the economic
reform process of 1991. 4

32. “Self-Help Groups provide stimulus for institutionalised lending,
employment generation and women empowerment in the rural areas.”
Justify the given statement with valid explanation. 4

33. Read the following text carefully :
Adoption of Village by Parliamentarians

In October, 2014, the Government of India introduced a new scheme
called Saansad Adarsh Gram Yojana (SAGY). Under this scheme,
Members of India’s Parliament need to identify and develop one village
from their constituencies. To begin with, MPs can develop one village as a
model village by 2016, and two more by 2019, covering over 2,500 villages
in India. According to the scheme, the village can have a population of
3,000 — 5,000 in the plains and 1,000 — 3,000 in the hills and should not
be the MP’s own or their spouse’s village. MPs are expected to facilitate a
village development plan, motivate villagers to take up activities and
build infrastructure in the areas of health, nutrition and education.

On the basis of the given text and common understanding, answer the
following questions :

(a) State and discuss, any two objectives which the Government of
India wanted to achieve through ‘Saansad Adarsh Gram Yojana
(SAGY)’. 4

(b)  State the yardsticks for selecting villages under the SAGY Scheme. 2
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34.

58/4/1

(a)

(b)

(1)

(i1)

1)

(i1)

Explain the need and types of land reforms implemented in

the agriculture sector.

Why was public sector given a leading role in industrial

development during the planning period ? Explain.

OR

Explain the reasons why the industrial sector has performed

poorly in the reform period.

Distinguish between the Bilateral and Multilateral trade.
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General Instructions :

Read the following instructions carefully and follow them :

(i) This Question Paper contains 34 questions. All questions are

compulsory.

(it)  This Question Paper contains two sections :
Section A — Macro Economics
Section B — Indian Economic Development

(iit) This paper contains 20 Multiple Choice Questions type questions of

1 mark each.

(iv)  This paper contains 4 Short Answer Questions type-I questions of

3 marks each to be answered in 60 to 80 words.

(v) This paper contains 6 Short Answer Questions type-II questions of

4 marks each to be answered in 80 to 100 words.

(vi) This paper contains 4 Long Answer Questions type questions of

6 marks each to be answered tn 100 to 150 words.

(vii) Attempt all parts of a question together.

SECTION - A

(Macro Economics)

1. ‘Money is an asset which can be stored for use in future. 1
In the light of given statement, identify the function of money.
(Choose the correct alternative)
(a) A measure of value
(b) A standard of deferred payment
(¢) A store of value

(d) A medium of Exchange
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2. “Considering the depreciation of Indian Currency (%) in the international
market, the Reserve Bank of India (RBI) has decided to purchase Indian

currency (%) in the open market.” 1
This represents exchange rate system.
(Fill up the blank with correct alternative)
(a) fixed (b) flexible
(c) managed floating (d) manipulated
3. Read the following statements carefully : 1

Statement 1 : In a two sector economy, consumption expenditure and
investment expenditure are the two components of Aggregate
Demand.

Statement 2 : Aggregate demand curve always start from point of origin
with positive slope.

In the light of given statements, choose the correct alternative from the

following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(¢) Both statements 1 and 2 are true.

(d) Both statements 1 and 2 are false.

4.  ‘Deficit’ in Balance of Payment (BOP) refers to the excess of
(Choose the correct alternative) 1
(a) Current account payments over Current account receipts.
(b) Capital account payments over Capital account receipts
(c) Autonomous payments over Autonomous receipts
(d) Accommodating payments over Accommodating receipts

5.  (A) From the statements given in Column I and Column II, choose the

correct pair. 1
Column -1 Column - 11
A. | Vegetables grown in the Personal garden | i) | Non marketing activity
B. | A car used as a taxi (11) | Consumer good
C.| An air-conditioner used by household | (iii) | Capital good
D.| Scholarship given to students by (iv) | Factor income
government
Alternatives :
(a A-@ () B-(@1)
(¢ C-—(ii) (d D-@Gv)
OR
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(B) Complete the table : 1

Value of | Intermediate Value
Producer .
output | Consumption Added
Farmer 2000 — 2000
Baker | Q) 2000 2000
Retail Seller 4,400 LG 400
Total LG 6,000 v
Alternatives :

(a) 4000, 10400, 4000, 4000 (b) 4000, 10400, 4000, 4400
(¢) 2000, 6000, 6000, 4400 (d) 4000, 10400, 6000, 4000

6. (A) If in an economy, the Investment Multiplier is 4 and Autonomous
Consumption is ¥ 30 crore, the relevant consumption function would

be . (Fill up the blank with correct alternative) 1
(a) C=30+0.75Y b) C=-30+025Y
¢ C=30+025Y d C=(-H30-025Y

OR

(B) If increase in National Income is equal to increase in Savings, the
value of Marginal propensity to Consume would be . 1
(Fill up the blank with correct alternative)

(a) equal to unity (b) greater than one
(¢) less than one (d) equal to zero
7. Read the following statements carefully : 1

Statement 1 : Money supply (M;) in India does not include ‘demand

deposits’ with commercial banks.

Statement 2 : Money supply (M,) refers to, assets available with the

Commercial Banks during a particular period of time.
In the light of the given statements, choose the correct alternative.
(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(c) Both statements 1 and 2 are true.
(d) Both statements 1 and 2 are false.
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8. (A) Suppose, the price of one UK Pound (£) has increased from ¥ 70 to
T 80, owing to market forces. 1
This means that value of Indian Currency (%) has
(Choose the correct alternative)
(a) appreciated (b) depreciated
(¢) revalued (d) devalued
OR
(B) Suppose, Country X, has more inflation than Country Y. Which of the
following is most likely situation to happen in such a case, assuming
other factors being constant ?
(Choose the correct alternative) 1
(a) A surplus trade balance in Country X
(b) A deficit trade balance for Country X
(¢) Arise in exports from Country X to Country Y
(d) A deficit trade balance for Country Y

9. Read the following statements — Assertion(A) and Reason (R). Choose one
of the correct alternatives given below : 1
Assertion (A) : Full employment refers to, absence of involuntary
unemployment.

Reason (R) : Under full employment situation, all willing and able
bodied people get employment at prevailing wage rate.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the
correct explanation of Assertion (A).

(¢) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

10. In an economy, the value of Marginal Propensity to Save (MPS) is 0.25,
what will be the value of increase in income, if investments increased by

T 200 crores ? 1
(a) 200 crores (b) R 150 crores
(¢) T 1,000 crores (d) T 800 crores

11. Suppose only one Good X’ is produced in the country. Output of Good X
during year 2018 and 2019 were 100 units and 110 units respectively. The
market price of the product during the two years was ¥ 50 and ¥ 55 per
unit respectively.

Calculate the percentage change in Real Gross Domestic Product (GDP) in
year 2019 using 2018 as the base year. 3
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13.

14.

15.

16.
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12. (a) Giving valid reasons, state whether the following statements are
true or false : 3
(1) Dividend received from investment abroad is recorded on the

credit side of the capital account.
(i) Depreciation of the Indian Currency will lead to promotion of
Indian exports.
OR
(b) Distinguish between Autonomous transactions and Accommodating
transactions. 3

13. If planned savings exceeds planned investments in an economy, explain
its likely impact on income, output and employment. 4

14. As per the following news published in ‘The Hindu’ on 6th August, 2022 :
‘The Monetary Policy Committee (MPC) of the Reserve Bank of India
raised the Repo Rate by 50 basis points.’

Identify and explain the likely cause and consequences behind this type of

action taken by the Reserve Bank of India. 4
15. (a) Explain the role of Central Bank as Governments’ agent and advisor. 4
OR

(b) Define Reverse Repo Rate. Discuss briefly, how this instrument
helps in controlling credit creation by commercial banks. 4

16. (@) (I) How should the following be treated in estimating National
Income of a Country ? Give valid reasons. 3
(1) Profits earned by Foreign Banks in India.
(i) Expenditure on upgradation of fixed asset by a firm.

(II) Suppose in a financial year, the Gross Domestic Product (GDP)

at market price of a country was ¥ 1,100 crore. Net factor
income from Abroad was ¥ 100 crore, the net indirect taxes was
¥ 150 crore and National income was T 850 crore. 3
Calculate the value of depreciation, on the basis of above
information.

OR
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(b) {d) “While estimating Gross Domestic Product (GDP) by
expenditure method, entire focus is on expenditures incurred by
the residents of the country.” 3
Do you agree with the given statement ? Give valid reason in
support of your answer.

(II) Calculate the value of Domestic Income from the following data : 3
S. No. Particulars Amount in
R crores)
(1) Rent and Royalties 1,300
(11) Net Indirect Taxes 200
(111) Wages & Salaries (in cash & in kind) 1,700
(iv) Corporate Tax 400
(v) Depreciation 400
(vi) Retained Earnings 300
(vii) Dividends 400
(vii1) Net Factor Income from Abroad (-) 120
(ix) Mixed Income of Self Employed 1,400
(x) Change in Stock (-) 200

17. Study the given picture carefully :
Sources of State and Local
government tax revenues for a financial year

Individual
Income Tax |f
Corporate 20%
Income Tax Property
3% Tax
35%
Sales & Gross
Receipts Tax
34%
Motor Vehicle
License Fee
2%
Answer the following questions based on common knowledge and picture :
(a) Categorise the given items in the picture into tax /non-tax receipts. 3
(b) “Government has started spending more on providing free services
like education and health to the poor.” 3

In the light of above statement, explain how the government can use
the budgetary policy in reducing ‘inequalities of income’.
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Qs -9

(VT Srefegrereen <t ferenma)

18. 9ra # fafemt wmem & 37, R HfY 3 9 % ST TITEHAT T ITIT
feram T o | (T2 farehed &1 T )
(a) TEred o HHt (b) WS FEaf st frepret
(c) Y-uereAT (d) I+ A

19. (A) YT T H 3R hl TS B Shifd o SR 3caTeT shadl Tqeh e o |

(TE! Tarehed T =51 i)
(a) 3 A g (b) TE T ==
() HIEENE (d) oS ST
31Udn
(B) __ ! WA AT o (HTAT o &9 H ST 11 8 |
(a) SEEE TE& (b) . TEeEIeE
() Sf. aHE fig (d) 3f. TN TR

20. (A) fr=ferRad oAl 1 eaTYE® 31
HUF 1 : 1950 < T H <4 H HEH FAGRT FREh{qeh ST T STRE 3T T |
HUA 2 ; = o Torehrar o HeTd: IcuTe & 1 AEH § |
few T el % SATets U, FAfeRaa O @ g2 fasew 1 =em Hifsu -
(a) AT 1HT R INHYT 2 3T 2 |
(b) HUYT1IEALINFYT2 TR |
() HUT1IAN2TNHAE |
(d) UF 132 A A |
T
B) Tm=fefad @ & 315 HUT 1 Tg=gm= oL (TE faehe &1 91 )
(a) =t 3ol gfg o wifchea & FER R |
(b) uIRFE HDIWRTH TRa 4 fi & |
(c) TITREA 7 “Tehed STcteh H1fd’ T HMCS U T |
(d) 1991 H R 3 T STTifeh GEri T TR AT |
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SECTION -B
(Indian Economic Development)

18. During the British rule in India, Indian agricultural output witnessed

stagnation due to . (Choose the correct alternative) 1
(a) Decline in handicrafts (b) Drain of Indian wealth
(¢) Land settlement (d) Introduction of railways

19. (A) In the first phase of Green Revolution, output was restricted mainly

to . (Choose the correct alternative) 1
(a) Cereals and Pulses (b) Wheat and Rice
(¢) Cotton and Jute (d) Jowar and Bajra
OR
(B) is known as the architect of Indian Planning. 1
(a) dJawaharlal Nehru (b) P.C. Mahalanobis
(¢) Dr. Manmohan Singh (d) Dr. Rajendra Prasad
20. (A) Read the following statements carefully : 1

Statement 1 : Great Proletarian Cultural Revolution was
introduced in China in 1950’s.

Statement 2 : China’s growth is mainly contributed by the
manufacturing sector.

In the light of given statements, choose the correct alternative from

the following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both statements 1 and 2 are true.

(d) Both statements 1 and 2 are false.

OR
(B) Identify the incorrect statement from the following : 1
(Choose the correct alternative)

(a) China’s Economic growth rate is better than that of Pakistan.

(b) Pakistan is behind India in HDI ranking.

(¢) One Child Policy norm was adopted in Pakistan

(d) In 1991, India adopted New Economic Reforms.
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21. __ 9% MY e B, S AT O STEawehdrel | wefed Aifd HEsH o qeiehd
FA 2 |

(a) HEHNI T ATl (b) &t T S
(c) T TERIAl 9g (d) = (NABARD)

22. f=fefga wem =1 u@ — AT (A) 3T wRw (R) = feu U oot o & wh @&l
ﬁﬁb_ch_?ﬁ
AR (A) : 1980 % < H TTehEdT i 3T forehmd ot Wit & 31fere oft |

HRT (R) : iipea 3 sl o wrastfe &= 1 sew wrflerl arett fifda smfdies s
o W o1 STFEXT foham o |

ferehen -

(a) IR (A) 3R HR (R) | THT T & 3T HRW (R) 3Afweped (A) hT odt
T |

(b) ARHAA (A) TR FRO (R) THI T 2 3T HRO (R) Tfeher (A) i 92 s
T

(c) MU (A) e & fehd 10T (R) 16 7 |

(d) TR (A) 379 & Tfeh T (R) T § |

23. TEa™ i, fop Frmferiaa o & == wia § wea St fmior 6t e | gefa @ 2

(i) e erree (i) T Refors ww
(iii) IhgHM SE= (iv) wmETRees g 7 ufeda
fererea
(@) @9 @ (b) (1) = (111)
(¢) (), (1) 7 (i11) (d) @ F@v)
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21. is the apex institution which plans and evaluates policies related
to rural credit needs. 1

(a) Cooperative Credit Societies (b) Regional Rural Banks
(¢) Self Help Groups (d) NABARD

22. Read the following statements — Assertion (A) and Reason (R). Choose one

of the correct alternatives given below : 1

Assertion (A) : During 1980’s, economic growth rate of Pakistan was

more than that of India.

Reason (R) : Pakistan followed the path of mixed economic structure

with equal participation of the public and the private sector.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the

correct explanation of Assertion (A).
(¢) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

23. Identify, which of the following are associated with the problem of human

capital formation in India ? 1
(1) Brain drain (1) Low academic standards

(111) Rising population (iv) Changes in social outlook
Alternatives :

(a) (1) and (1) (b) (i1) and (ii1)

() (), (@) and (iii) (d) @) and (iv)
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24. freferfea st S eamYEs U -
FoA 1 : foiv anfis &= (SEZ) Hifq & sror = 8 y=r yerer faesft fewr (FDI) &1
JeITg 3T T |
FHUA 2 : = 1 e AT fohmE 1981 1 35k STl i o1 qRomH o |
few T el & SATets U, FfeRaa O @ g fasew &1 = Hifvu -
(a) YU 1T g 3TN HYA 2 IFAE |
(b) FUT1IFILINFATI 2T |
() HU1IN 2T TAE |
(d) HYT 132 ATIR |

25. UEHH i foh, TNl & Hed §, frefeilad § 9 s H 91 %Rl 31Ec g 2
(a) HETHAT hY IR HET (b)  ITIAY TR LT
(c) ofH 3raeqor (d) dicd forwaes Tamd Y= ST

26. TEaH i fob, frferiaa & @ “uftres Seen sraTa’ i o o e e g wE g 7

(H&t ferehed w1 == )
vt sifiren
S S

27. TrtaRaa ol &1 S | 31er
oA 1 : = 1 gy veaeia AT 1956 T IR 8 off |
oA 2 ; Aifeerd T (USSR) 1 T hid 5T WRA d = T 4 THTSETS! STefeew
ATt 1 I3 feham o7 |
few mu el & 3reties |, feferfaa § 9 wd fased o1 ==m Hifsw -
(a) FUT1TTEIANHYT2 TS |
(b) AT 1 FEAEINFAT2 TR |
() FYT1IN2STHATE |
(d) HUT1 3R 2 GHI 3HAF |
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24. Read the following statements carefully : 1

Statement 1 : Special Economic Zones (SEZ’s) policy has led to huge
Foreign Direct Investment (FDI) flow to China.

Statement 2 : China’s rapid industrial growth was the result of its
economic reform in 1981.

In the light of the given statements, choose the correct alternative :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both statements 1 and 2 are true.

(d) Both statements 1 and 2 are false.

25. Identify, which of the following is an incorrect function of environment ? 1
(a) Supplies resources (b) Assimilates waste
(¢) Land degradation (d) Provides aesthetic services

26. Identify, which of the following is the correct formula for calculating

‘Worker-Population Ratio” ? (Choose the correct alternative) 1
Total Labour Force Total Workers

(@) Total Population 100 (b) Total Population * 100

Total Population Total Population
© Total Labour Force * 100 () Total Workers * 100
27. Read the following statements carefully : 1

Statement 1 : First Five Year Plan of China commenced in the year
1956.

Statement 2 : Both India and China adopted Socialist Economy model,
following USSR.

In the light of the given statements, choose the correct alternative :
(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both statements 1 and 2 are true.

(d) Both statements 1 and 2 are false.
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28. FduH FATaRufi gt < ded H, fou e famr 6, ot 1 uffeafa i smen i

29.

30.

31.

32.

(€] @

(@) “9TtE arHier g ¥, Teh INER & 3Afee safad HRd 8 8, T off aiam 61 ot
3T HHT=Id: S Bt 8 17
feu Tu o A Hefifa SUSETR <A1 TEe L au sHE Feia fatemym i s
|
Froran
(b) TS Al U7 STTEYARATST bl I A H & |G TV <hT $fHrehT T ST H |

I T& = <l Thet Tl 3cA1E (GDP) 3t anfiies gfg & wafera frmafafaa g=mn i gemn
7 foreereor i -

Tehe! TN ICUTG Y A Afeg

) 1980-90 | 2015-17
R 5.7 7.3
== 10.3 6.8

@@ : Asian Development Bank, Philippines, World Development
Indicator — 2018)

(a) (1) FAofiertor =1 3red fod |
(ii) “aTTfefeR R Wik & SV & W faga g9TE 3371 2 | fewaofi &t |
Ao
(b) forfesr smem gru smumed TaAT % faehm & el g1 roll &1 Ieor@ T =R
Exd
T BT g Sooid i foh, ffeIlad o e & e 319 ¢
() T IATChdT d IcdTe HHT FHTEHT H a9 1 JRom 8 |
(b) St 3 gieg Hre st fomior &t Tqurer =1 o e B R |

58/5/1 E i



28. Interpret the situation of earth as depicted in the given picture, with
reference to current environmental challenges : 3

@ @

29. (a) “In rural areas of India, more members of a family are engaged in
work, yet the gross income of the family is generally low.”
Identify the type of unemployment indicated in the above statement

and explain the paradox associated with it. 3
OR
(b) Explain the role of micro-credit system in meeting -credit
requirements of poor. 3

30. Compare and analyse the following information related to Annual Growth

of Gross Domestic Product (GDP) of India and China : 4

Annual Growth of Gross Domestic Product

Country | 1980 - 90 2015 -17
India 5.7 7.3
China 10.3 6.8
(Source : Asian Development Bank, Philippines, World Development
indicator — 2018)

31. (a) () State the meaning of ‘Privatisation’. 1

(1) ‘Agriculture sector has been adversely affected by the Economic
reform process.” Comment. 3

OR

(b) State and explain any two main causes behind infrastructural
development by British rule. 4

32. State, with valid reasons whether, the following statements are true or

false :

(a) “Higher productivity and production are the outcome of investment
in human resources.” 2

(b) Rising population is not the cause for quality of human capital
formation. 2
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33. (@) (i) oy fafaefmton r aftfia =t |
(i) ifaes SN F1 319 FaE | =REN FL fh, I8 FRE TR grofE fawE w
SicaTTed i & ?
Freran
() () YA T B T b TeETe sht SATwIhdT W == e |
(ii)  3CTEXYT Hfed JaTeRor Y SIS &A1 hl ST . |

34. frferfaa e 1 e S1LRA L TUT $Heh I HHT [H o SR R U 7T 5947 1
IWE
9T o forva IR wren @ Fremi o € ¢ 61 31E foper 7, ifeR o1 wTeSe Wi |
39 <1 ! WrerEl 1 fia foham St ook < @ ueret Y st b1 TTHAT @ ' | WA
YT ST 1 HH i H TERIAT hL Hehdl &, Tg WTO 1 IR T A i g it e o
FO HHE 2 |

a6t fod w3 w1 B T @, $um 9 3k Afvas gwte aeqd & qun

foprasficr 9 Iudt g8 Srderawnati & foru ehl Iucteaan giafead w1 Agcaqel |
3B YR o Y& TN S8 — HTY IcTe H g o, AT hid Wl el HrishH
T Th Y, Teh UM IS AT 7 A1 forawor =1, o1 oft wmem fopa |

(Source : The Economic Times; July 16, 2022)

(a) Tova =R @ & fohdl g g IE9al 1 Sooi@ o SARST . |
(b) WA GRI W L& 1 G5¢ T o {10 fohw 11w fohmell €1 shgHi <1 A1 fordd |
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33.

34.

58/5/1 {23 > E i

(a) () Define Agricultural diversification.
(1) State the meaning of organic farming. Discuss how does it help
in promoting sustainable development.
OR
(b) (@) Discuss the need for promoting women’s education in India.

(1) Explain absorptive capacity of environment with example.

Read the following text carefully and answer the given questions on the
basis of the same and common understanding :

India urged the World Trade Organisation (WTO) to relax rules to allow
the country to export food grains from its public stocks to the nations
facing food crises. India can help, reduce food insecurity but there is
hesitation on the part of the WTO, in relaxing its rules. India’s Finance
Minister said food, fuel and fertilizers are global public goods and
ensuring access of these for developing and emerging economies is critical.
She also shared India’s experiences, including robust gains in agriculture
production, citizen centric food security programmes and innovative
delivery mechanisms such as the ‘One Nation one Ration Card’ Scheme.
(Source : The Economic Times; July 16, 2022)

(a) State and discuss any two objectives of World Trade Organisation.

(b) Name any two steps taken by India to strengthen the food security.

1"
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IB 184 [8TEHT & I3 s 378 UZ #3 857 &7 FYF] 38 YB3 JJ

(1)
(ii)

(iii)

(iv)

(v)

(vi)

(vit)

[EF YHE Y3T €9 34 YHE I& | A’ YHS HIN I& /
18T yHE Y3 € 457 feg S5 [apHT T

Y5 & — FHES #HIGHHIT

Y3 Y — I3 Tl [STH

&7 YIS V3T €9 Ra-Fa wa € 20 gI/<as/] yaS I& |

&7 yHE Y37 €9 BE-138 #d' € 4 5¢ B39 T8 yag-1 € YHE
I& 1737 € 837 60 F 80 HEE" foT 18 71 giIIE I |

[EF YHE Y3T [e9 TT-TF #d’ € 6 5 837 &8 yag-II € YHE
I& 757 € 837 80 F 100 HE" 9 189 7@ gdle I& |

&7 YHE Y3T 69 -8 Wa’ € 4 89 839 ya'd € YHA I& 73T €
837 100 5 150 FFE" f29 189 77 T8 I3 |

JI 187 YA € F'd FII € § 39 1858 189 77& T I |
U3
THEI W9gHH3T

J& fou Fgat § s 578 U3

g5 1: YEHI 7H, »H 7637 31 U S &€ 98 &I 7T,
Je 5 |

F952: ‘UI g I oo 7637 § 3 I¢ U9 € d96 S
T & Sfefamd 7 afde I& 1

fa3 IE qu&" < IHst feg, I i feg Adt feasy 9< -

(a) JES& 1 HI J M3 I8 2 AT &1 J |

b) JTHS 1 HI &I I M3 J96 2 AT J |
(¢c) JHS 1 M3 236 A I8 |

(d) TS 1 M3 2 26 HI ddT IS |
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2. (A) AT HS 3 IJHI MHIG W3 A6 O3 3 IHSI MHIS
T »i3q Jer T |
(uddt g7 § I35 st At feasy 9E) 1
(2) HT "Y3Y 59
(b) feoH™ 3 YU3 HU HUS WHIS
() wEEt Yt = Qusar

d) TA9 HS
oo
B) Ve fa I& fafmf fad fagzr de8 ew3fed Ygrg § Sgne
J? TSN W3 Aee 1
(a) SIH

H'US SdIS™

THPAT W3 HI=T

(b)

AOs HaTa

H'US SdIS™

(c)

(d)

& e
ool

226/1/1 3> 2 P.T.O.



3. 87 =3 fan Sug U9l &€ wuSh® B9 A It wgast & yadt

9396 © Bt 994! fadde ¥ 3 Bug 3¢ Is B faar
T J | (4t 77 § 396 B AT feasy 92)
(a) WIS AFIS b) §d =9

¢) JU =TI (@ fI=In JU =9

4. I3 fou qus" § s 575 U3
gg5 1: fou IHed T WS A6 ASBS © We § BH e
UHS (BoP) J9& © & feme ¥9a 3 Yz 8ug (foe) ¥+t

g3 feg adq 3T a2ar |

((O-Io

JT52: FIW3 BT O FA3E H3ISE (BoP) o TB3 I AZISI
Je I& |
fa3 IE qua" & JHst feg, I fefimt feg Adt feasy 9< -
(a) JE&51HI I M3 IG5 2 AI &1 T |
b) TG 1HAI & T W3 J86 2 AT J |
(c) TE&1 M3 238 HI IS |
d) JqE&1M3 2 T& A &d1 I6 |
5. J& fog m=g falae T s &8 wifons 99
“Jedt §x & fora mfodt Auadt §3 fo. w3 »izHs w3 fadga
JH Adad §a fg. Qug §fdar fawnt @ €3we T Tt gaHs
Barfen J 17
fadt areft falae @ »mug 3 Jedt 894 @ I <t ug< 99
(a) SIHT AT IIS (b) HA&3T < §d
(¢) HIAT = §9 @ g = g

al

6. (A) #I3 62 HBX T HS =4 W3 WIS = (-) 60 J, 3T IS
fafimr fod At 993 <56 <t uage a9 .

(a) S=(-)60+025Y (b) S=(-)60+0-75Y
(¢ S=(-)60+020Y d S=(-)60+060Y
a
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(B) fo3 3T QUIT TB& C=205+09Y © BT, foew I & HS
J=ar | (¥ 77 § 396 B At feasy 9e)
(a) 0-09 (b) 100
(c) 09 (d) 9-0

J& fod qus’ § u3 : 2f93dEs (A) W3 96 (R) | I& @3 dr®

fegsyt fod fan feg Adt feasy § 9 -

1934595 (A): WHES © WHH3J (Break-Even) f¥g 3 udde 3
ufad, #MA3 Budar yfeadt ape) = vy feardt 3

N [o] =N

g Jor J

IS5 (R) : WH3 QuUId Yfeddt (APC), I8 BQudar W3 I3
WMTHES T »aU™3 7 J |

(a) <TfdZ9EE (A) M3 II& (R) €6 AJT I& M3 T35 (R),
2fdzams (A) ot AT fawrfunm T |

(b) <fIFTEE (A) M3 dI6 (R) <6 HJIT Is, U3 I35 (R),
2fgza8s (A) <t Af fanrfaorr 397 T |

(c) <fI3d8s (A) At I, YT 96 (R) AST & T |
@) =fgzd8s (A) At &t I, T 96 (R) AT T |

(A) Hs& IC fa fed IHeT T UT #3386 T 50,000 IIF < WeT
o 3 | oot e T ( ). feedof
g™ & gaHE (fagw3) = Um ae J | foudhdt argn

<t g9He (fequ3) =" v& ? FIF J<ar |
(4t g7 § I35 SEt AT feasy 92)
(a) 20,000 (b) 10,000
¢) 12,500 (d) 20,300
7

o> g P10,



(B) feow § 30 I 39€ M3 Il JEt JAH, FIBE HIBS ©

U3 & 0y feg @ad o3 7 Is |
(4 g § 396 Bt At feasy 9e)
(@) U+, gfse ® U, 3fae
() 9%, Jf3e @ 93, 3fae
9. yge fa Iz fofim fog faozr mflaas 7t I 2 (At feasy 98)
(a) MPC + MPS =0 (b) MPC + MPS =1
(c) MPC + MPS > 1 (d) MPC + MPS < 1

fal

10. »adt AfESt fag feq AHIE HEY TISHG HAgdl €9 3 aH JIs
fanmg &t J=r I, 89 Afedt g8t I |
(&t g7 § I35 St AT feasy 92)

((Q-|o

(a) YJ& Judrd
(b) M&EEd SIdard]
(c) fefga g9aardt

@ st It g3qardt

11. () ‘U U’ w3 ‘G3u<s T »i3s 4B fog »i39 AurAe 99 |

7
b) I fedft goar I, S9H A © HS =0 & IS5 &9
. JH

& Het .
HigmT (T 933 f=9)
(i) SIH A TIT IS Wa3T & ydle 5
(i) 3IH A I 99 I9d a8t & ¥dle 2
(i)  |WIB wiggfeangT feg gaH A It 10

gHIMT ST § 1St aret feadt
(iv) gl HA'G 3 S0 A I 9 50

H™& <7 €d™HS
v) HES A o »38 A 38 wifgda 3
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el a)

12.  “‘feoHl fefer T3 w3 fodmt Hegr &t wygdt feg ga=Hd AIHREY
J 1”7 ot 3 fe3 3¢ Jus &% AfgHs I 2 wue €39 f
g’ S8 It URdt 9 | 3

al [alERaY

13. o9 faufas 593 feufas faem 3 we I 3T AHUWAS 339 <t

14. 26 A399, 2022 § &t I f&dft yeg § U3

“Jedt g & S9HId Gu9 =9 fe9 140 W9 »ia T U A3

J 17

g3dl farae §a gt St ot fem Ia=rdt @ fug "Agfes 96 w3
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